(a)

2 Code : 5054

Explain the types of reversible electrodes.
&, 0e3aD Jo S Ee e DSBoYIL.
Or 8o
What are Transport numbers? How they are determined by Hittorf's method?

B0 Hogrieo 9063 DDoe3? e 2;%;53 Slalefailiey 2 AeFOrP V0BT a0

Discuss in detail the Retrosynthesis with examples.

3eS" H0RENO GITISEI0S oS S50Y0R)B.
Or So»

What are stereoselective reactions, enantio selective reactions and diastereo
selective reactions? Explain.

, DITYBT DBLD $000%0 SOITHOBT WBES S50 ol HDe3?

5 a £
DT ™ =
FSlSTeSSFRIISEY
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Code : 5054

FACULTY OF SCIENCE
B.Sc. (Il Year) IV Semester (CBCS) Regular Examinations, March/April 2018
CHEMISTRY - IV

Paper IV

Time : 3 Hours] [Max. Marks : 80
Part A — (4 x 5 = 20 Marks)

Answer all questions.
By (DB DATEEES0e0 (TS0,

1. Write about alkyl aluminium compounds.

e, & BTN Féﬁog?&?@éo K0y [@rososo.
2. Explain Mannich Reaction.

SRS B0 DSBS,
3. Explain Arrhenius theory.

©OODD DrTosBm 3B,
4. Discuss thermal pericyclic reactions.

oo 30 5an B8535 S80S0,

Part B — (4 x 15 = 60 Marks)
Answer all questions.
O (DEOR DITEEEE000 @005,
9. (a) Explain Werner’s theory of co-ordination compounds. Write its limitations.
DB B ¥ BooY), 3G6)5 STroBENH DIB0HB. 7D SOWHeD Ak,
Or 8o
(b) Explain the types of ligands.
Brro&e 550085 DS80S,
6. (a) Write any three general methods of preparation and any three chemical
properties of carboxylic acids.
52023198 koo @y, D3 Ktk Jordes BaircSato 538005 50050
ISR BT CTALS G FPaios.
Or 8o
(b) Discuss in detail the acidity of carboxylic acids.
50805 es570 eSsnh DPHOSVT 5000,
PTG,



Code : 5054

FACULTY OF SCIENCE

B.Sc. (Il Year) IV Semester (CBCS) Regular Examinations, March/April 2018
CHEMISTRY - IV

Paper IV

Time : 3 Hours] [Max. Marks : 80
Part A — (4 x 5 = 20 Marks)

Answer all questions.
) (PFHOD BITEESB000 [@raos.
1. Write about alkyl aluminium compounds.
& ) V\JQDJ Jodo 35\3 9‘55)16,&1/ e 6\ |-?..l-D 306320,

2. Explain Mannich Reaction.
370D WEF0 ASBODB.
3. Explain Arrhenius theory.
©0RAND VTS50 DIBOHSD
4. Discuss thermal pericyclic reactions.

50 B0 IS5 SO,

Part B - (4 x 15 = 60 Marks)
Answer all questions.

20 (DL DITEESB080 (FPAK050.

5. (a) Explain Werner's theory of co-ordination compounds. Write its limitations.
RS055a% SRoiTre Aok, 366 LeToBHN DSBoHB0. T S8Iotoeso Fraosw.
Or 8o
(b) Explain the types of ligands.
Bro&o 5o 58050,
6. (a) Write any three general methods of preparation and any three chemical
properties of carboxylic acids.
ST&08 eosne Gy, DB Sarch FErde SarEeSots DEBOOD SoBako
DI BoTesr BI A GO @O,
Or 8o
(b) Discuss in detail the acidity of carboxylic acids.
520298 esire 6353086500580 YOS BBYoR)H00.
[P.T.O.
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Explain the types of reversible electrodes.
&39,508300 o FGe STes DI00YS®.
Or 8or
What are Transport numbers? How they are determined by Hittorf's method?

BRSNS Dogrgen 0d] AAoe3? e 2?&@:35:, BES T2 ) DG AFowoBekaran?

Discuss in detail the Retrosynthesis with examples.

35" D0BHERL GITErSEred’ DHOBT SOY0HD.

‘h

Or

(:]

C

o
What are stereoselective reactions, enantio selective reactions and diastereo
selective reactions? Explain.

20BFIBES, ITABT DBIS $000%0 EASTHOBT DBES S50 @0l 2oed?

TDK:\P‘\"’\\K\\
ooy jodhad.







Code : 5022
FACULTY OF SCIENCE
B.Sc. (1 Year) Il Semester (cBCS) Regular Examinations, March/April 2018
BOTANY
Paper |
(Bryophytes Pteridophytes, Gymnosperms and Paleontology)
Time : 3 Hours] [Max. Marks : 80
Draw the well labelled diagrams wherever necessary.
PRB00H: HHSHT HDels At

Part - A — (4 » 5= 20 Marks)
(Short Answer Type)
(23 3%e)
|, Answer all the questions:
(5 .4\ »ay}f‘.gq g ) Sas008S peES
1. Gametophyte of Anthoceros.
s Boh B, Ro@rh DHescsson.
2 External features of Equisetum.
C’)s“c:éN, B, Py 0T offTas.
3. Pinus Male Cone.
NG GBasty, HERECRY.
4. Importance of Fossils.

Feresiicoe rao0psS.

Part - B — (4 x 15 =60 Marks)
(Essay Answer Ty pe)
("5‘:55‘13 R e:.)

Il. - Answer all the questions:

@y ERe RIS TRAiaNNI

5. (a) Write structure of Antheridiophore and Archegoniophore of Marchantia.

. X o a - ~
rosDeEoh Sebaio & Qerkals Hod i

b Q) %5 b

Or 8

(b) Write an essay on evolution of Sporophyte in Bryophytes

12C __._-.(-’-;, ol € B Starrion CRUSRITNG 000 Wi toil o WERINS [F‘.T‘O,

(a)

(b)

(b)

(a)

2 Code : 5022

Write a general account of heterospory and seed habit.
ey ?cg_'gla:é}‘i‘{}';rjo'-ém S50y oo

or o
Describe the structure of Sporocarp of Marsilea.

SroyDesr A0 8 Doyt D50oBes.

Describe the internal structure of Pinus needle and point out its
xerophytic characters.

Zlehte opiacNes SoBats: AEORREe VFFTOS

Or &
Female strobilus of Gnetum.
2300 B, '. 050 DOREARlesly DBBoyNe.
Give an account of various fossilization methods.
Berditien Bl JL0oPIR.
Oor g
Give an account of the general characters of Bennettiales

n.-.n.E.JéJL‘\ SE{ DSBo=I.



Code : 501 32

FACULTY OF SCIENCE
B.Sc. (I Year) ll Semester (CBCS) Regular Examinations, March/April 2018
ZOOLOGY -1l
Paper |l
(Ecology, Zoogeography and Animal Behaviour)
Time : 3 Hours] [Max. Marks : 80
Part A — (4 x 5= 20 Marks)
(Short Answer Type)

Answer all the questions.
Oy FBHOD G DATETT Eraleai,
1. Energy Flow.
2. Biodiversity holspots.
& DG o5 e5e3 \11.)‘.)4

3. Australian region.

: e
w8 E0ld Socdve,

4 Taxes.

wdrlemed.

Part B - (4 x 15 = 60 Marks)
(Essay Answer Type)

Answer all the questions

= T
T NedPRTS Q020

C
5. (a) Whatis Food Chain? Describe the types of food chains.
wsst T F ooy enTaie? 106 ITe et Raniieds Sgo ot

Or &y

(b) Define Parasitism and write an essay on parasitism.

iy 2550 D a8 Do Trlos.

P.T.O.

6. (a)
(b)
7. (a)
(b)
8. (a)
(b)

2 Code: 50132

What are Growth Curves? Describe the different types of Growth curves.
e DS Tos el E000 DD Sore BSoruce dpeks HGoded.

Oor &=
What is pollution? Describe the major pollutants of air and their effects.
e

PApr.: |
;C@\.ND.,#\:;.;W:‘S,J@_L\?QUWQS o, T ferred: Sgoticc.

What are Zoogeographical Regions? Give a general account of fauna
of Ethiopian Region.

a

&E3 TR 9% FroTren el ? Flalessy | Ddosed.

Or Ecr
Describe discontinuous distribution with examples.
Dy Deas G Seand Dubohod.

What is Behaviour? Describe instinctive behaviour.

s L RN L) s po- S
RN e COSITANS D S EONGNGs Jabcoea.

Or &

Write an essay on Trial and Error Leaming.

-5303;@‘; 5.‘;102;’51-’;?50; 25 7500 oo
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ODE NO: 5023

IR e

FACULTY OF SCIENCE
B.Sc. ll-Year llI-SEMESTER (CBCS) Backlog Examinations, May-2018.
Botany

(Taxonomy of Angiosperms and Medicinal Botany)

Time: 3 Hours Max Marks: 80
Section- A 4x5 = 20m
(Short Answer Type)
Answer all the questions (&) ESEATSIEY $SrTESS (FecinEn)

I Cyto Taxonomy.
’ Legoed 33@»%653 R0

2. Piston mechanism.
DY ohol@go

3 / Kalabanda. (Aloevera)
ool

f‘/’/ Nelausiri. (Phyllanthus amarus)
Foa2d (Herofs wirdd)

Section— B 4x15= 60m
(Essay Answer Type)
Answer all the questions. (&) (EBEAZY BEPERHED (E°cinw)

5(a). Give an account of Bantham-Hooker's system of classification. Add a note on its
merits and demerits.
Bogrm -50Es HE88n AT, 25609, IS Hod), BhoP egErgRoS0s.
(OR)
(b). Write in detail about ICBN (International code of Botanical Nomenclature).
0.2.0.05 (woSTdud ¥ e TEEe ASHSEHY) Krl) DsheorT @0k,

6(a). Describe the vegetative and floral characters of Cucurbitaceae.
o%BER TR0 WO PEY OFEFR $Bos0d.
(OR)
(b). Describe the floral characters of Poaceae and add a note on economic

importance.
oD HHnoR0 V) OB E.égo& o @gé @“Eﬁwa:gé @e:q)o&.

7(a). Explain the role of Ayush and CDRI organizations in Medicinal Botany.
TS HEERed® Ayush B CDRI $0go (& DB00Y.
(OR)
(b). Give an account of Pipallu and Karaka.
EE-) LB Bdsche 1) Al ololnloln

8(a). Give an account of biological source and medicinal significance of Brahmi and
Aswagandha.
@28 SBTH0 odyiot Sddono By (Feongd 11°0) Eigereelet
(OR)
(b). Write an essay on types, methods of collection and processing of plant crude
~ drugs.
st dnb Bimren DESH HFHw & (F20oh dgrso Kr8) BoBol.



10. (a)

(b)

1. (a)

(b)

12. (a)

(b)

2 Code : 31343

Unit - /o525 - ]
Write about the reasons for Spreading diseases in fishes, identification
characters and preventive measures,
3508’ TOsey SoRINem 589 maoy, OEEIBVOS DFes SFE0 Lo

Write about the structure and Jife history Entamoeba histolytica.
Jotaer eSS o, Byess SFTI300 206 S5 SO0,

Unit - IVicsoe5 - v

Define Biotechnolog_y and write about the Scope and importance of
Biotechnology.

&5 odoy TR A0 82 5689 PATBTOWH D360,
Or/ge

What is cloning? Write about the role of cloning in Agriculture ang animal
breeding.



Code : 31 343

FACULTY OF SCIENCE
B.Sc. (Il Year) Examination, OctoberINovember 2017
ZOOLOGY
Paper Iv
(Applied Zoology)

Time : 3 Hours] Max. Marks -1 00
PartA-(5xg =40 Marks )

. Unit - laxor9es - I
1. Lakes ' 2. Pearl industry 3 Boats used to capture the fishes
NCESVICH 0B SO Beo Sepens E3ATAoM Sesssen
- Unit - loxar2es . [}
4. Preservation of fishes, 5, Yres of nets g, Geardiasis,
350 dog Saso SESoe0 Joo S¥sva SArBAHS
Unit - /o265 . ]|
7. Bladder worm 8. The role of stem cells in controlling diabetes
BEDN DT T4 Dt STOEAs 00 Jugs

v PartB - (4 x 15 = go Marks)
' (Essay Answers)
(gseimss SSrErares)
Answer all questions.
S PHO dsrorso Eraodd.
- Unit - Vasooes - |
9. (@) Write about the importance of Aquaculture.
st Eend .@"35003359563 Q3D0)S00.
Orlgee
(b)  Write the important steps in Aquaculture.
2090 DoBESE™) BETroneS: o800,

[P.T.0.
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FACULTY OF SCIENCE
B.Sc | Year — | Semester (CBCS) Backlog Examinations, May-2018
Zoology
Paper — l:— Animal Diversity — Invertebrates

Time: 3 Hours Max Marks: 80

Note: Answer all questions in Part A and Part B.
SECTION -A
(Short Answer Type) (4x5=20 Marks)

Answer these questions at one place only
& (Bob o) (BHoH HEmredRnen (Fecins.
A.  Archaeocytes
Slo)essifains]
2. Coral reef
ey Bden
3. Botryoidally tissue
EOEroNES SeaePoin

4. Pearl formation
Swdgo ) DGrPHD

SECTION-B
(Essay Answer Type ) (4x15=60 Marks)
Answer the following questions in not exceeding 90 lines each
& (Bod o ESCABEY BEPTeSH0en (FEPaSnsn.

5) a) Describe the life cycle of Elphidium.
EBao £08 Sz°R) DHBoEw.
OR)
b) What is Canal System ? Describe the Canal System in Sycon.
e K55 ORVTFIR? PSS &° Bery SHTH DIOOW.

6. (a) Describe the life cycle of obelia.
2 DO 48 SR DHOODI®.
(OR)
b) Give an account on parasitic adaptations in Helminthes.
Bic)lelals £5H06% HoHdd wdhiroTre DHBoSo’.

7. a)yDescribe the cephalic appendages in Prawn.
oy &% 863 Garorrey HH00BOG.
(OR)
b) Describe the various kinds of mouth parts in insects.
Beysred® Ko DG Ssee Su grrren HHBoEok.

8. (a) Describe the digestive system of Pila.
Per S55HR AB00H0S.
(OR)
b) Give an account of Torsion in gastropoda.
PRI & HOE DD DRI DHBOEH®.



Code No:50131

FACULTY OF SCIENCE
B.Sc | Year — | Semester (CBCS) Backlog Examinations, May-2018
Zoology
Paper — l:— Animal Diversity — Invertebrates

Time: 3 Hours Max Marks: 80
Note: Answer all questions in Part A and Part B.

SECTION -A
(Short Answer Type) (4x5=20 Marks)
Answer these questions at one place only
& 800 o) (DHoH HAFGRSE0eD (Fecinsn.
1. Archaeocytes
&0)GI° R
2. Coral reef
(Barg Hen
3. Botryoidally tissue
EPEronES SeaePosn

4. Pearl formation
Sz DG DTPRHD

SECTION-B
(Essay Answer Type ) (4x15=60 Marks)
Answer the following questions in not exceeding 90 lines each
& (Bod o) (HEHoH SIPERHE0en (P00,

5) a) Describe the life cycle of Elphidium.
&aho 208 S(oR) NHD0HI.
OR)
b) What is Canal System ? Describe the Canal System in Sycon.
ers H5HY SITRD? S & Horg JHg DHBoDID.

6. (a) Describe the life cycle of obelia.
2 DO £98 SgeR) HHBOHD.
(OR)
b) Give an account on parasitic adaptations in Helminthes.
B £5od"D HorHds vdEroTw DHBoP0s.

7. a)Describe the cephalic appendages in Prawn.
Easy 6% 858 adrorren JdoSol.
(OR)
b) Describe the various kinds of mouth parts in insects.
Eermree® Ko DG st HSow G DBB0B0E.

8. (a) Describe the digestive system of Pila.
Per SPRGH0ND DHBoHSok.
(OR)
b) Give an account of Torsion in gastropoda.
T &8 DS D> AR DHBoBED.



CODE NO: 50133
FACULTY OF SCIENCE
B.Sc. lI-Year lII-SEMESTER (CBCS) Backlog Examinations. May-2018.
Zoology
(Animal Diversity — Vertebrates and Developmental Biology)

Time: 3 Hours Max Marks: 80
Section- A 4x5 = 20m
(Short Answer Type)
Answer all the questions
(0 Bt odw DEPEERNR0 (FPci0sin)

1. Ascidian tadpole larva.
JHBHS erENES SogiEkm.

2. Rhyncocephalia.
Sleigstalovd
3. Aquatic adaptations in mammals.

Esmros® I8 vhiroTre.

4, Placenta.
23TPCIN.

Section— B 4x15= 60m
(Essay Answer Type)
Answer all the questions.
(0 BEHoH ToGRIETH JEEdSHn (Fedinsn)

5(a). Write the general characters of Chordates.
suée'i_ Fedes ofrol [Eeohol.

(OR)
(b). Describe respiratory system of Scoliodon.
B DR DSOODHE.

6(a). Explain parental care in Amphibia.
agichITres® $oddared H8od DHBoYIL.

(OR)
(b). Describe Heart of Calotes?
&of Kre)éoﬁam“éa égo@a’m

7(a). What is Double Circulation? Explain it in birds.
&8s [H8E ©BPR? 8D HFHos® HBH0oRHI.
(OR)
(b). Describe brain of Rabbit.
Hoden Sd DHBoDW.

8(a). What is Fertilization? Describe the process of fertilization.
$obEsntn wdmram? Hobitn «=8h gedo HBod (ol
(OR)
(b). Explain gastrulation process in frog.
Ey6® mEBaS Derdsnts Bey)do.
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CODE NO: 5021

FACULTY OF SCIENCE
B.Sc. I-Year I-SEMESTER (CBCS) Backlog/lmp Examinations, May-2018.

Botany
Microbial Diversity of Lower Plants
(Paper-1)
Time: 3 Hours Max Marks: 80
Section- A 4x5 = 20m

(Short Answer Type)
Answer all the questions

1. Heterocyst.
?\J"&SBKE@
2; T.M.V.
. . .
3. Globule.
AarsS
4. Asexual reproduction in Albugo.

@we)ﬁs Bwg), wPoNE (28588

Section—B 4x15= 60m
(Essay Answer Type)
Answer all the questions.

5(a). Describe the structure of lichens.
SERD) ?\)U‘gsaaﬁ:o DHBORY.
(OR)
(b). Describe the structure of Cyanobacterium Cell.
HSerBArE® S VUyEEn DIV,

6(a). Describe transmission methods of virus diseases in plants.
Ioes® FED Brog) TR D%BoSod.
(OR)
(b). Write a note on Mycoplasma?
@_)553:;.‘:‘11’& %809 DHBORYR.

-

7(a). Describe the process of sexual reproduction in nannandrous species of
oedogonium.
SESFEDGH0S TSER wded’ BoNE* B DBBoIok.
(OR)
(b). Define lsomorphic alternation of generation with suitable example you have

studied.
Sotms Dod E¥ed @PPR? £99 DY JOS aEeEEdes (@Herd Ty DHBoHI®.

8(a). Write the various methods of asexual reproduction in fungi.
8Dolgrod® wgons (HSogHBS° Edet DG BErw HEHO DHBoSos.
(OR) 2 &
(b). Describe life cycle of puccinia on wheat plant.
$E Qi EE) 208 SO Fbodn DG doe aBrdS DHOOHE. Y



(a)

(b)

3 Code : 50112

Derive the wave equation and its solution for longitudinal vibrations in a
bar.

A5 Do el BoTTes) SC0N RUsE00m e S0D Tl B0, T8

Write the boundary conditions for longitudinal vibrations in a bar.
sE&° Do ©g gy SosTos: Hoachoeld ey Duolsels kel
Or 8o
Explain the modes of transverse vibrations in a clamped free bar.
2% B DRotnd, BodiBd) Sy 54" Dot 8658 g0 Skow 1)
D300H0cs.
Write a short note about tuning fork.

€851 - o, B eyt - — 2
podicSolo NTEy 093 Ty W OIC0Cs.

-



Time : 3 Hours]

Code : 5011 2
FACULTY OF SCIENCE

B.Sc. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018

PHYSICS
Paper |
(Waves and Oscillations)

[Max. Marks : 80

Part A — (4 x 5 = 20 Marks)

Answer all the questions:

@l FEEs HOTTERLe) Frabed:

1.

Derive the equation of motion for a simple harmonic oscillator.

559 oy Eosin Gt Yol AETnINeRo deny ciseds.

Define quality factor. Explain its significance.

epresnGs D300, O SooRgEss N5boScd.

What are the laws of transverse vibrations of strings?

Bires® Byl sou0 BrETos Fohod.

Distinguish between longitudinal and transverse vibrations in a bar.
sho6’ ey, SonTes, GOS SodTe 0 Soreio ool

Part B — (4 x 15 = 60 Marks)

Answer all the questions:
@l BEes ARrorssaes Erabod:

5.

(a) Explain how the value of g is determined with a compound pendulum
giving the necessary theory.

HooSTotn SoR@riol fotosy dinds (g) Do S

.\:rj:;cé oF D5bodod.
Or do

(b) What are ‘Lissajous Figures'? Find the resultant of two simple harmonic
motions of same frequency acling along two mutually perpendicular
directions.

Her WEros Wil e woundied

[PT.O

(b)

(c)

(d)

(a)

(6)

()

2 Code : 50112

Derive the equation of motion of a damped harmonic oscillator and obtain
its solution.

wSdg TOES Soiss G, Do BUSSnENS &omGe, T

B G O c.\egoéu.

The amplitude of an oscillator of frequency 200 Hz falls to 1/10 of its initial
value after 1,000 vibrations. Calculate its quality factor.

200 Hz Fraspsso 3ORS 08 Sod Gt 5o5d 30208, 1000 Sodzre i

oD &8 deoss’ 1110 SHcd T O FoEasEsdaods BoM aSots.

&8
')
[
o
e
O

orée
Derive the equation of motion of forced vibrations and solve it.

e

exerdt; @ BoSTes: @0 20dHod Jes ShsEGeassse ué:"\u-h [0 \c.w,
@
5

Explain amplitude resonance and velocity resonance.

Eoi ONE e SrcSSas Sobdiw 3r essdorrSaaedo B > To ot e ir S

What are Transverse Waves? Explain modes of vibration of stretched
string clamped at hoth ends.

&5 soorres © 5059 Bock Dities DRotadiddy Frrbasnds e’
ax: A wons bavese A3BoScs.

A steel wire 50 cm long has mass of 5 gm. Itis stretched with a tension of
400 N. Find its second overtone frequency.

50 om Srsd BOAD m&- & 5078 5 gm. S 400 N z.wﬂa”f{f
FrebonndsS, ol Botd edigd D Trisigoso gaefsod.

Or &
Discuss about the energy transport in the wave motion aleng a string.
LrDond pHbe D Hon Dudindots 4 treT @i D00 Ty - 580008

Find the velocity of propagation of a transverse wave, the displacement

of which is given by in S.I. system as y =2 sin {100 t= %]

\
s o qu = 1 00t - —
0¥gen 5.1 58Sy 25“’11"1 60



Code : 5011 2

FACULTY OF SCIENCE
B.Sc. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018
PHYSICS
Paper |
(Waves and Oscillations)

Time : 3 Hours] [Max. Marks : 80

Part A — (4 x 5 = 20 Marks)
I.  Answer all the questions:

57 SRS DRTETOS00) EEOeG:

0y EHESS PRTTTHND0 Fre G

1. Derive the equation of motion for a simple harmonic oscillator.
559 o Eotio G, Do 00N aamdoiicd.

2. Define quality factor. Explain its significance.
FaeserEESass Wdhow, o ErdapgEas NsBoscd.

3. \What are the laws of transverse vibrations of strings?
Briod® H5:E Soni BrEren Frood.

4. Distinguish between longitudinal and transverse vibrations in a bar.

sdod wodg; Sosares, BOS SodTo $0y oo Goot.

Part B - (4 x 15 = 60 Marks)
II.  Answer all the questions:

el BHet SIrEraioes ralod:

5. {a) Explain how the value of g is determined with a compound pendulum
giving the necessary theory.
S

e R 3 i N o " e
ot s SHEPRCT td; e () Desste X Docwing SRS

?«:c{;oéo«?‘ D5boSod.

Or&a

(b) What are ‘Lissajous Figures'? Find the resultant of two simple harmonic
motions of same frequency acling along two mutually perpendicular
directions.

PT.O

(a)

(b)

(c)

(d)

(a)

(b)

(©

(d

2 Code : 50112

Derive the equation of mation of a damped harmonic oscillator and obtain
its solution.

SIS SoEE Sustis S, Jol RsERLR &EmBeD, TN
e . o
2o Bh creeods.

The amplitude of an oscillator of frequency 200 Hz falls to 1/10 of its initial
value after 1,000 vibrations. Calculate its quality factor.

200 Hz Frashie 3005 o5 Sl B, oS W02, 1000 SosTre s

o0 8 Deusd’ 1110 Sosots SHS0. wowm Ol TSl BT Sod.
Or &

Derive the equation of motion of forced vibrations and solve it.

perd, (¥ SoiTros: donodod Jo@ ShoEsmIns aEiol, BHanLe

LHomaod.

Explain amplitude resonance and velocity resonance.

ot BBE oS Sbaky B eSurdSed Dsboticd.

What are Transverse Waves? Explain modes of vibration of stretched

string clamped at both ends.

S Stormes iSRS ? Bodk D DRosadys Troabnds b

bé}j B Hasede DS8oBct.

A steel wire 50 cm lang has mass of 5 gm. Itis stretched with a tension of

400 N. Find its second overtone frequency.

v, whaw 8 By o P o
50 cm e EhAn oo B 0do8 5 gm. @ 400 N &858
SrbondsS, ol Sots ednd ELpNRes ESRok.

Or &
Discuss about the energy transport in the wave motion along a string.
5o

&rDcad 3R 2 S8on Codhaniods %_és GareT etioid o TGy AsBoBol.

Find the velocity of propagation of a transverse wave, the displacement

X
of which is given by in S.1. system as y = 2 sin x {100 b= gajl

I3 [ X
S0t .. 8gec y=2sinn -{100 t- 6_0:1 ay

S RSl ghofsed.



(a)

(b)

(c)

(d)

3 Code : 50112

Derive the wave equation and its solution for longitudinal vibrations in a
bar.

shE° Doy 0B Sotress &% e on i EamO0D T S0, S8R
SRt
Write the boundary conditions for longitudinal vibrations in a bar.
si6° D R gy SosTos Honcholi BETey DuodHess @bt
or do~
Explain the modes of transverse vibrations in a clamped free bar.
2% 39 Diosnd, BotsiZ HEyrHY <& Doty BES 509 Bise K70
ahvtolomn oo
Write a short note abaut tuning fork.

Eaditiedo MG, 200 TE5 mrafod.

— e



‘monod. (A - X) Nun_ac?um:qﬁlb X
U=x) Z=b(x=2) A+ d @A) xonos ()

ponot (g - xg) soo € =2 (,ag — 0 +,002)
(g - xg) 500 € = (€ - 4@+ ,aaz) anes () (@)

0eHO
Aox xe
"2000YL A7 500 X SO0 = i A
7,0 7,0
A xQ
" A7 509 X S00 = AOXe 2" anpg ()
2,0 78

.conooﬁouuﬁueli%z
0=b(z-gq)+(L+ D dones () (e)

2606 * °P°2 €



Code : 5092
FACULTY OF SCIENCE

B.Sc. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018

Time : 3 Hours]

MATHEMATICS

(Differential Equations)
[Max. Marks : 80

PartA—(4x5=20 Marks)

I Solve the following all prablems:
Bob ey RSl FHotod:

1.

Solvey(1—xy)dx—x(1+xy) dy=0.
y(1—xy)dx—x(1+xy)dy=0;3"ao-50¢‘..
Solvegi[—ZgZ—ayss

dx? dx ’
Py oW 3y -5 rposol
i’ e Qowdots.
Solve 3@ D%y + 3x2D% + xDy + ¥ = 0.
X3 D3y + 3:@2D% + xDy + y = 0 Qood.
Solve z=px + qy *+ Pq.
z= px + gy + pq Qoo

Part B — (4 x 15 =60 Marks)

Il Solve the following all problems:
(308 ey oo JrHodod:

5.

(a) (i) Ifthe differential equation Mdx + Ndy = 0 is non-exact

1
homogeneous and Mx + Ny = 0, then prove that m is the
integrating factor.

Mdx + Ndy = 0 aorgos™e SesorBon wtes HduEseo, Mx + Ny # 0

1
eond Mx + Ny w36 BEFEeS Ko ef)iiood e SrB0d.

(i) Solve [y + 1)/3 + 3 x2] dx + 1(x + xyz) dy = 0.
3 2 4
(y+%y3 +-%x2)dx +%(x+xy2)dy = 0 FHodad.

Orfdee
[PTO.

® O
(i
@ ()

(ii)

() 0

(ii)

(@ 0

0)

(&) O

. 2
2d%y
X -—'2—+

(ii)

2 Code : 5092

Solve y = yp* + 2px.
y = yp? + 2px FHoisod.

Solve xp® = a + bp.
xp® = a + bp FGotod.

Solve (D + D2 =D - 1) y = cos 2x.
(D’+DZ—D—1)y=cos2x£i"ao:30&.

Solve (D? + 6D + 9) y = 2™
(D2 +6D+9)y=26 * YHoisols.

Orfdoe

2
Solve 1—32(-—2%-+y = xsinx,
dx dx

2
gd;zzﬁz%” = xsin x Ffosod.

Solve (D?+3D?+3D+ 1) y= e X (2-x9).
(D*+3D%+3D+ ) y=0""(2 — x2) ook,

Solve (D2 —3D +2) y = 2% + 362, by the method of undetermined
coefficients.

(D? - 3D + 2) y = 2¢% + 367 &0 wAGOS Rorro GBS godod.

Solve y" + y = 4x sin X, using the method of variation of parameter.
y + y = Ax sin x 3o 507000 S8 5B asarAcD roos0b.

orfdoe

2

2d%y _dy e . :
Solve X dxz+Xa-y4X.giventhaly,=X|sonesoluhon.
x Wy = x 5 Bos0d, 356 Y1 = X EI0LET
ax o Sosocs, 35,G Y1 =X O .

2
Solve x2%%+4xg%+2y =e*.
X

2

2dy dy X

e &Y L 4x—L +2y =0 > o
12 dx y Goiiocs.



Time : 3 Hours]

Code : 5092
FACULTY OF SCIENCE

B.Sc. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018

MATHEMATICS

(Differential Equations)
[Max. Marks : 80

PartA—(4x5=20 Marks)

Solve the following all problems:
Eod ey St Zracsod:

1.

Solve y (1 —xy) dx =X (1+xy)dy=0.
y(1=xy)ax—x(1 +xy)dy=0 FrBotsols.

d’y ,d
sove &% -2 -3y =5.
dx dx

dy _,dy
Y. 97 8y=5
e - y FBo0G.
Solve x3 D + 3x?D? + xDy +y = 0.
X2 D3y + 3x2D%y + xDy +y =0 FEOBA.
Solve z = px +qy * pPq.
z=px+qy+pq Sroosoc.

PartB - (4x15=60 Marks)

Solve the following all problems:
o ey Do Footod:

5:

(a) (i) Ifthe differential equation Mdx + Ndy = 0 is non-exact

1
homogeneous and Mx + Ny # 0, then prove that Mx + Ny is the
integrating factor.

Mdx + Ndy = 0 aorios™d SonRrBaDh es¥es R, Mx + Ny # 0

90008

1
Mx + Ny 38 BT Keto 05HE0d e Sr50é.

(i) Solve (y + 1 y3 + lxz] dx + 1(x + xyz) dy =0.
3 2 4
(y + %ya +%x2] dx + %(x +xy2)dy =0 rHotod.

or/doe
[PTO.

® 0
(i)
6. (a) ()

(i)

() O

(ii)

7. (@ O

(ii)

(b) ®

(ii)

2 Code : 5092

Solve y = yp* + 2px.

y = yp? + 2px FHoidot.
Solve xp® = a + bp.

xp® = a + bp FHood.

Solve (D? + D? =D - 1) y = cos 2x.
(D3 + D2—D - 1) y = cos 2x FQoiod.

Solve (D? + 6D + 9) y = 28™ >
(D2 +6D +9)y=26 3x raoSods.
Orldoe

2
Solve g—‘12£-2‘:Ly+y = xsinx,
dx dx

dy %

) e +y =Xxsinx Fractod.
Solve (D*+3D?+3D+ 1) y=€ (2~ x3).

(D3+3D2+3D+ N y=e"" (2 - x%) Fodsod.

Solve (D*-3D+2)y= 242 + 362 by the method of undetermined
coefficients.

(D2 - 3D + 2) y = 2x% + 367 &0 &GOS roeTse BEOE FHoidol.

Solve y"" + y = 4x sin x, using the method of variation of parameter.
y" o+ y = 4xsin x 5o 508 Sty HEHD &s@rhod rQosot.

Oorfdoe
Solve x~ d—zx + X & _ y = x; given that y; = x is one solution
ax? dx ' ! ’
7 Xz"ciy'*'xgy——y = X 350 SrBoSoB, BE,G Y1 = X G0 B8 G
dxz dx [ ) 1 .
2 d% dy x
Solve X dxr2+4x3;+2y=e )

2
2 d°y dy X
2L Ax T +2y ="

e dx y Bodod.



3 Code : 5092

8. (a) () Solvep (g2 + 1) +(b-2)g=0.
p(q2+1)+(b—z)q=03°@oaod,

&z 632

ii — - = = cos X C0s 2
(i) Solve ox? | oxdy Y.

82z 2%z

o0z Y% _cosxcos2 .

ox?  oxdy y >Hodod
orfdcr

(b) (i) Solve (20D’ + D% —3D") z = 3 cos (3x - 2).
2
(2DD' + D' - 3D') z=3cos (3x— 2y) Froisods,

(i) Solvexl(y—z)p+yz(z—-x)q=z2(x—y).
Rly-2)p* Y @-0a=2 x=Y) Ffoisoss.



FLCE
8. (a) Divide a number ~n" into three parts x, ).z such that ayz+bzx+exy shall have a
maximum or minimum and determine which it is
ayz+bzx+cxy 110Fo Sor 8230 wdly deore A od Somgh X, ),z
DefBodol. el Sgrael) :)u;Oodo&
(OR)
(b) i) Find the asymptotes of (x—1)(x~ D(x+y)+x +x+1=0

w0l Hawth grreedrr

(x=Dx-2)x+M+x +x+1=0 © olod HysPwes 858508,

ii) Find the envelope of the curve (E) +(-ﬂ =1 when a" +b" =c"
a

a"+b" =c" ol [5) + [g) =1 od H0f edodss 0%l
a




Code No:5091

FACULTY OF SCIENCE
B.Sc I-Year I-Semester Backlog Examinations, May-2018
Mathematics (Paper-1)
Differential Calculus

Time: 3 Hours Max Marks: 80
Note: Answer all questions in Part A and Part B.

SECTION -A
(Short Answer Type)
Answer these questions at one place only
& |Bob of) (BHHoH Hrgrdsinen (Frainbio.
1. Find the nt derivative of Cosx Cos2x Cos3x
Cosx Cos2x Cos3x @g) n & edosind g:58%08.

(4x5=20 Marks)

3
2. Show that the curvature of the point (;gg] on the Folium x* +y' =3axy is —3@
a

6856 Beo KrQ) DBOODHI.

[i;,%‘l) Bochay G 2+ y' =3axy SR8 HES -82 @ SEHod.
o'z L&z
3. If Z=f(x+ay) +P(x—a)) then prove that a =a P
2 2
7= f(x+ay) + Plx—ay) sond %y%: ? -ZTZ @ drHol.

4. Write the Lagrange’s conditions for maximum and minimum values of a function of

two variables.
Bot SooeHe (HHairds Koy, 5I7 Devdo aothnth 8rol dired [Fabod.

~ SECTION-B
(Essay Answer Type }
Solve the following all problems
& (Bob o dvged FposSold.

(4x15=60 Marks)

5) a)i) If y= & then prove that (1+x" )}y, +(2mx—=1)y, + mn—=1)y, =0
y=e™" wond (1+x")y,, + @ -1y, + n—1)y,, =0 o2 Srdol.
ii) Expand 2x' +7x" +x—6 in powers of (x—2)by using Taylor's theorem.
2% +7x7 +x—6 B Hob Bpoed) sSAPND (x—2)Frored® (ool
(OR)
m{tate and prove Lagrange’s mean value theorem. Explain the geometrical

representation of the Lagrange's mean value theorem.
Brrol Sty Swrey DEpoE) (HHDod drBodod. Birroll g SHarey drposedd

ersnBah DHBe 23508,
ii) Prove that for any quadratic function px’ +qx+r ; the value of @ in Lagrange’s
theorem is always ¥2 whatever p,q,r,a,/i may be.
D 58 oI0H0 px’ +gr+rde pg.riah Densied® SHabo Soce Brol depodod® ¢
e Va wigibonsn tardy Sabol.

Contd.....2

b oSO 630 3)

s 8

6. a) i) Discuss the continuity of f at the origin when f(x) = x logsinx for x#0and

flo)=0
f(x)=x logsinx x# 0 50dm f(0) =0 HDHrRS Hredodhd B8 wDOHBD

sinlx

. . lim
ii) Determine (cotx)
x>0

lim
cotx) " % 508508,
x—0 ( ) 563’

OR
b) i) Find the radius of curvature for ghe gurue r=a(l—cost)
r=a(l-cosf) Sg=08 Har ayIgod 558508,
ii) Find the Evolute of the parabola y* =4ax
V! =dax dordodcrd8 Solduin (Evolute) & 558508,

Sgyodol.

7. (a) i) If == f(x,y) is a homogeneous function of x, v of degree n then show that

8z Pz &z
T— +2xya—+y’—2-:u(n—l):
ax oxy ay

x

2= f(x,y) ®30 x,y 08 nd FWB fo Ssgrd (Hababo wand

d'z &z 02
» —+2ay——+ y 5 =n(n—-1)zed SrHod.
ox axy ay
Lo
4 4 4
ii) Verify Euler’s theorem for z = X; L2, T
x5 43
1 1
x4yt
7= % woweb (Euler's) dopodaind $0jodol.
x5+

(OR)
b) i) If ax’ +2hxy+by* +2gx+2fy+c =0 then prove that
d'y _ abe+2feh-af* —bg' —ci’
dx’ (hx+by+ )

2 . QT T B
ax’ +2hxy+ by’ +2gx+ 2 fy+ec=0 @and Q:abn+2fgh of b‘? &
- dx’ . Uxrby+ f)

@l SrHol.

i) If y*" =Sinx Then find 4
dx

w836 y* = Sinx wond jl:n g:58hol.
x
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M- 34— SO U3 T+2qP TdAp
1ewy aroad uayy ( = 2+ AL +X8T+ AG+AAT+ XV ) (1(q
(4o)

gl + X
i

ondEoR EERob (5,43|N3) gEROR G =7
pit + X

1 1

ﬂa + X
11—z
N 10§ Waioay s J31n Ajuap (1t .
e
(x0 X
‘mowap g z(] - HU = 2@ A aHﬂer.m.. X
zpt z,e .0

A:
u:l:unuw\ﬁmnk+ xg X0 '
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8. (a) Divide a number “n” into three parts x,y.z such that ayz+bzx+cxy shall have a
maximum or minimum and determine which it is
ayz+bzx+cxy 11050 dor 8050 adby desore " 3 Bongd X, p,7 o8 St grrrerw
DefRodSol. el HErErd) ng:@uéod.
(OR)
(b) i) Find the asymptotes of (x—D(x—2)(x+ Yy+x+x+1=0

(x=Dx-2(x+y)+x’ +x+1=0 H elod B)otwen 08508,

ii) Find the envelope of the curve [E) +{—£) =1 when a" +b" =c"
a

a'+ b =c" wonsid (i) +[%) =] o S0 esvdsh sH%ot.
a



CODE NO: 5094
FACULTY OF SCIENCE
B.Sc. lI-Year IV-SEMESTER (CBCS) Regular Examinations, May-2018.
Mathematics (Paper-1V)
Algebra

Time: 3 Hours Max Marks: 80

Section- A 4x5 = 20m
(Short Answer Type)
Answer all the questions (e [Ddie BSreedtn |Feasndm)

Show that the set GL(2, R)= {[z :} a,hc,deR,ad-bc# 0} forms a group
under matrix multiplication.

%28 GL(2,R)= {: ﬂ abede R,cm’—bc:G} s Komedo G
Hardre ©Hkhosd SrHod.

Let ‘G ' be a group of real numbers under addition and G be a group of positive
real numbers under multiplication. Defined ¢:G — G by ¢(x)=2". Show that
$is an isomorphism.

\G* B s omges® Soseso Hipy B G g a3 Sorgos®
Homseto ey diames, ¢ G G Srhabsnd ¢(x)=2°m dgDosodd ¢
B ©HBH08D Srdold.

Show that characteristic of an integral domain is zero (or) prime number.
Frod (BF¥o @) er¥dto DIy Hor Heed Sopy edIrBd.

IF f(x)=4x' +2x* + x+3 and g(x)=3x" +3x° +3x7 +x+4. where

f(x), g(x) € z,[x]. Compute S(x)+g(x) and f(x) 2(x).

Flx)=4x"+2x7 +x+3 wbain g(x)= It 4320 4307 +x+4 o o [x]E
omdioen wond [(x)+gl(x) Do [(x).g(x) o™ £55508.

Section — B 4x15= 60m
(Essay Answer Type)
Answer all the questions. (e B Sdrerssn (Feainiin)

5(a). Define center of a groupG . Show that the center Z(G) is a subgroup of G .

Haesro G ﬁ:\:ﬁz’go(_éoé: DigDosod. & Solgo Z(G) @38 G oY) aBdhsmro
©HHoEY Srdod.
(OR)

(b). Define Cyclic group. Find all generators of Z, Zeand Z,,.

ShcH SHmIo DD0I0E. Zq, Zy HEdin 7y o8 sl alf Lrese 555508,

6(a). State and prove Lagrange's theorem on groups. What is its converse? Justify

with example.

HfarFed Brrod drrodod JDod DErhosol. 62 DBdabEn Vadr? so?

asorsrdned® 236%8odal. Contd...2
v

7(a).

(b).

8(a).

(o).

il

(OR)

_ Define Normal subgroup. Prave that A sub group H of group G s normal in ¢

ifandonly if xHx'cH V¥ xeG.
sBeop a5 Mmiros ADodol. e G Evg) addriro H el G8

whoon astdmiro < xHx' C H ¥ x & G o2 $»5ol.

Define Subring. Prove that a non-empty subset " of a ring ‘R’ is a subring of "R’
if and only if (la—beS (i) abeS Y abes.
adsochod VDol Sudbo R &ns) ApdgBd BHID S w38 R & addedba <
(a-beS (i) abeSY abeSed ol .

(OR)
Let 'R’ be a commutative ring with unity and let ‘A’ be an ideal of ‘R’. Then
prove that % is an integral domain if and only if A’ is prime.

R el S $inE DVBAH Sodhin Hoc ‘A #36 R’ @nd) ecgo woud R
Gpozol Bdo < 4 1Berd e eddrdol.

Let ¢ be a ring homomorphism from a ring ‘R’ to a ring *S". Then show that
¢ 38 Sodbo R Sod § D SHirsd ewond (BobTrdR Jrbodod.
(i) For any r € R, any positive integer n. ¢(nr) = ng(r) and ¢(r")= [¢5(r)r 3y
©6 re R, Sbaky GSGrgdong n & Pnr) = ng(r) sk ) =[p(n)] -
(i) If *A” be a subring of "R’ then ¢(A) = {;o(a),fa e A} isa subring of °§’
A 38 R & a3800b0 saxd ¢(A) = #(a)ac A} <
S & addedho.
(iii) If *A"is an ideal of 'R" and ¢ is onto 'S", then ¢(A) is an ideal of 'S
A &30 R 8 etito sbdd ¢ wd8 dolisre wand ¢(4) oI
$ & o,
(OR)
Let ‘D’ be an integral domain. Then show that there exists a field 'F’ that
contains a subring isomorphic to D.
ol (Bddo D & degiridd edgeey 608 edeododho go F 8 spshdo
©HSoll SrHod.






CODE NO: 5093
FACULTY OF SCIENCE
B.Sc. II-Year 11I-SEMESTER (CBCS) Backlog Examinations, May-2018.
Mathematics (Paper-Ill)

Real Analysis
Time: 3 Hours Max Marks: 80
Section- A 4x5 = 20m
(Short Answer Type)

Answer all the questions (s3) BHeH Sdmoedsn (easndn)

1. Define Limit of sequence and find limit of S, =\’ +1-n.

oo e582 D8DokHn HBI S, = fn? +1 -1 @) w3 LHFTHD.

2. Prove that if the series Za" an converges thenlima, = 0.

=l

Y a, @8 e} lima, =0 o2 Er%08.

n=l

3. Define point wise convergence of a sequence of functions and show that
fix)y=x"Vxe[0l]is point wise convergence on[0,1].
Babdire ehifign g Dothtrs olbdndd Dohotol HED

fi(x)=x",Vxe[0]] &38 [0]] B Dobrd edbdbmin elirsold.

4. 10,11 IR Defined by f(x)=1 forxeQ, f(x)=0 for xgQ then find
L(f, pyand UL, p)?
Fio— IR & fx)=1, forxeQ, f(x)=0, for xgQ ™ 0 LU, P)
Sb8dio U(f, p) o gohol.

Section — B 4x15= 60m
(Essay Answer Type)
Answer all the questions. (e®) BHe SEmEeHn (o)

5(a). Prove that monotone bounded sequence is convergent.
D80 Doy g oddiioed aDdrdol.
(OR)
(b). If {S,} converges to 'S’ and {¢,} converges to '’ then prove that {s, +1,}
converges to"s+1"? ls converse true explain.
(5}, © efoeod, {,)t8 el s, +1,} ©38 "s+1" 8 5000
eDEFS0R? BD Distdbin Dainl & HEmerEmo (ERakiin.

Contd.....2

6(a). State and prove Ratio Test.
)8 HOED I agrhosod.
(OR)
(b). Discuss the convergence of the following series.
(BoB (Fewer G0t ePSndd g0l

3

() Z;—! (ii) Z:;;I (iii) Zm"l_}

7(a). If £, f be two functions from § — IR and M, = Sup{f,(x)- f(x)xeS) then
prove that uniformly f,—>fon’s if and only if M, >0 asn—x.
fofen §—> IR % B0 BEHhasren Hbaid M, = Snp{lf,_(x)— f(x)xe S} wond
f o> [&6 § b D86rD efSbus TEIS eSS Sy Doy 1o
M, >0 @sri508,

(OR)
X

(b). (i) Show that f (x)= : _ ¥xe R is uniformly convergence on R.
+nx’

X

fi(x)= Wy e [R od6 IR Bs D86r% elitne edirsod.

1+nx®’

(i) Find radius of convergence of the series an L

w=0
in! ¥ w0 FS Gt efdtnd T5rEo goghol

=0

8(a). (i) Prove the every monotonic function is integrable on la,b]
[a.b] 2% (38 D565 Bhaban HErsedabin @QurHod.

(i) If f(x)= x?,¥x€0,b], then prove that f is integrable on [0,b]and

:[f(x)dx:%.

‘ f b
[0 =¥, Vxe[0,b) o [0,b] 3 f wroliabo eRdrD, [ flxpds= %

eddrdol.
(OR)
(b). (i) State and prove fundamental theorem of Calculus-1.
2wdd Lodsre bc;oa‘ﬂa HHDoD, Qbrdodod.

In
(ii) Show j

"

" 167°
Sint (et )dx s — -
(e")dr{ < —

In 3
lesz“(e‘)dx‘_S E’;r— ©JEPHod.



Code No:5061

FACULTY OF SCIENCE
B.Sc | Year — | Semester (CBCS) Backlog Examinations, May-2018
Computer Science
(Programming in C)

Time: 3 Hours Max Marks: 80
Note: Answer all questions in Part A and Part B.
SECTION -A
(Short Answer Type) (4x5=20 Marks)

Answer these questions at one place only

—

Discuss the strategies for designing algorithms.
Give the use of conditional operators.

What are storage classes?

aowoN

Write about enumeration type.

SECTION-B
(Essay Answer Type ) (4x15=60 Marks)
Answer the following questions in not exceeding 90 lines each

5) a) Define the following:
(i) Loading (ii) Compiling (iii) type conversion (iv) Interpretation
(OR)
b) Discuss generations and classification of programming languages.

6. a) Explain control statements.
(OR)
b) Discuss about multidimensional array.

7. a) Write about Call-by-value and Call-by-reference.
(OR)
b) Explain the concept of pointers in C-Language.

8. a) Write a program to demonstrate structures.
(OR)
b) Write short note on Files.
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Code No:5064
FACULTY OF SCIENCE
B.Sc Il Year — IV Semester (CBCS) Regular Examinations, May-2018

Computer Science
(Database Management Systems)

Time: 3 Hours Max Marks: 80
Note: Answer all questions in Part A and Part B.

SECTION -A
(Short Answer Type) (4x5=20 Marks)
Answer these questions at one place only

1. Discuss about File based system.
What is Multi-table Queries? Give example.

What is Transitive functional dependency?

BowoN

What is advantage of multi-version times larp ordering?

SECTION-B
(Essay Answer Type ) (4x15=60 Marks)
Answer the following questions in not exceeding 90 lines each

5) a) Discuss about Three-level of ANSI —SPARC Architecture with advantages of DBMS.
(OR)
b) What is Integrity Constraint? Explain Aggregation and joint operations in
relational algebra with example queries.

6. a) (i) What is View? Discuss view updatability with CHECK OPTION? Give example.
(ii) Discuss Granting and Revoking Privileges?
(OR)
b) Explain control statements and exceptions in SQL Programming? Give example
program.

7. a) (i) What is Enhanced Entity? Discuss the differences between generalization and
aggregation.
(i) Explain in brief about multi-valued dependency and joint dependency.
(OR)
b) What is the purpose of Normalization? Explain BCNF and 3NF.

8. a) Explain optimistic techniques and Granularity of Data Items.
(OR)
b) Explain Access Controls, Authorization and Recovery in database.
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Code No: 5062

FACULTY OF SCIENCE
B.Sc. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018
COMPUTER SCIENCE
(Programming in C++)
Time : 3 Hours] [Max. Marks : 80

PART - A (4 x 5= 20 Marks)
(Short Answer Type)
Answer all the questions.

1. What are Inline Functions? Give example.
Define Constructors and Destructors. Write its syntax.

What are the Formatted /O Operations?

= 2 P

How bad_alloc exception is handled?

PART - B (4 x 15 = 60 Marks)
(Essay Answer Type)
Answer all the questions.

5. (a) Explain about Overloading Functions.
Or
(b) Write a Program for Multi dimensional array.
6. (a) Write a program for Overloading Constructors.
Or
(b) Explain about Inline member Functions. Give example.
7. (a) What are Virtual member functions? Give example.
Or
(b) Write a program for single inheritance.
8. (a) Write a program for Function Templates.
Or

(b) Explain about Exception Handling mechanism.



CODE NO: 5063
FACULTY OF SCIENCE
B.Sc. 1l-Year llI-Sem (CBCS) Backlog Examinations, May- 2018.
Computer Science
Data Structures

Time: 3 Hours Max Marks: 80

Part- A (4x5 = 20M)
(short Answer type)
| Answer all the following questions.

List the applications of stacks.

\What are the advantages of circularly list over single linked list.

Define (i) Spanning tree (i) Binary tree.

Rearrange following numbers using quick sort
10,6,3.7.17,26,56,32,72.

= o R 1=

Part - B (4x15= 60M)
(Essay Answer type)
1l Answer all the questions .
5.a) What is an array? Explain about different types of arrays.
(OR)
b) (i) Explain about operations on stack.
(ii) Covert following expression into (X+Y*Z)-((N*M+0O)/P) into port form.

6.a) Write an algorithm to delete and insert element in single lined list
(OR)
b) Write short note on:
(i) Recursion (ii) Double-Ended queues.

7.a) Describe about binary tree traversal techniques.
(OR)
b) Discuss about Kruskal algorithm.

8.a) Write an algorithm for Merge Sort
(OR)
b) Explain about Insertion sort.
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FACULTY OF SCIENCE
B.Sc. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018
COMPUTER SCIENCE
(Programming in C++)
Time : 3 Hours] [Max. Marks : 80

PART - A (4 x 5 =20 Marks)
(Short Answer Type)
Answer all the questions.

1. What are Inline Functions? Give example.
Define Constructors and Destructors. Write its syntax.

What are the Formatted 1/0O Operations?

N

How bad_alloc exception is handled?

PART - B (4 x 15 = 60 Marks)
(Essay Answer Type)
Answer all the questions.

5. (a) Explain about Overloading Functions.
Or
(b) Write a Program for Multi dimensional array.
6. (a) Write a program for Overloading Constructors.
Or
(b) Explain about Inline member Functions. Give example.
7. (a) What are Virtual member functions? Give example.
Or
(b) Write a program for single inheritance.
8. (a) Write a program for Function Templates.
Or

(b) Explain about Exception Handling mechanism.



CODE NO: 5063
FACULTY OF SCIENCE
B.Sc. ll-Year IlI-Sem (CBCS) Backlog Examinations, May- 2018.
Computer Science
Data Structures

Time: 3 Hours Max Marks: 80

Part- A (4x5 = 20M)
(short Answer type)
| Answer all the following questions.

List the applications of stacks.

What are the advantages of circularly list over single linked list.

Define (i) Spanning tree (ii) Binary tree.

Rearrange following numbers using quick sort
10.6.3:7.17,26,56,32,72.

Ll S

Part — B (4x15= 60M)
(Essay Answer type)
11 Answer all the questions .
5.a) What is an array? Explain about different types of arrays.
(OR)
b) (i) Explain about operations on stack.
(ii) Covert following expression into (X+Y*2)-((N*M+O)/P) into port form.

6.a) Write an algorithm to delete and insert element in single lined list
(OR)
b) Write short note on:
(i) Recursion (ii) Double-Ended queues.

7.a) Describe about binary tree traversal techniques.
(OR)
b) Discuss about Kruskal algorithm.

8.a) Write an algorithm for Merge Sort
(OR)
b) Explain about Insertion sort.






Code: 1074/C

FACULTY OF SCIENCE
B.Sc. (Il Year) IV Semester (CBCS) Regular Examinations, March/April 2018
BIO-SCIENCE
(Apiculture)
Time : 2 Hours] [Max. Marks : 40

N =X

Section A - (4 x5 =20 Marks)
Answer the following in short.
2o (BHOD 050 ISP (FEAE.
Types of Honey bees.
B30 Sseen.

Bee keeping equipments.
B3edre DenTs> Jressven.

Modern methods of Bee keeping.
B3e30%0 $eT5006%) etods Beden.

Control and preventive measures of Honey Bee.
Bsedro Daboges Sodaty Dt S50,

Section B - (2 x 10 = 20 Marks)
Answer the following essays.
S08 PHPD TFIETD DSTET o @ansm.
(a) Explain Artificial Bee rearing.

B0 BedNe SOES5 DSBS,

% Orféce

(b) Describe the methods of extraction of Honey bee.
S35 220H0% Sobeod® IS Se SEB008> DSBS,

(a) Explain the products and its uses of Apiculture industry.
Apiculture 28F5 &S B0 So0a0 7 GIBFTOS ISBo)E0.
Or/dee

(b) Describe the diseases of Honey bees.
833108 DI S50 TEHeD DSBoYSW.

€
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code: 1074/D

FACULTY OF SCIENCE
B.Sc. (Il Year) IV Semester (CBCS) Regular Examinations, March/April 2018
BIO SCIENCE
(Food Adulteration)

Time : 2 Hours] [Max. Marks : 40

Section A — (4 x 5 = 20 Marks)
Answer the following in short.
Sela) (EFOR 00 ISTTT 0 TS5

Types of Food Adulteration.

History of Food Adulteration.
59 e85 SO.
Food Adulteration Act.
Food Analysis.
eI JFes.
Section B - (2 x 10 = 20 Marks)
Answer the following essays.
$0d HHoH TFIETD BIFTT L TPAN0E.
(a) Explain the packing materials and hazards of Food Adulteration.
58 55555005 DogSeisy Sorross 5080k e S90erge DSBoPHI®.
Or e

(b) Explain harmful effects of Food Adulteration.
59 e9:5550 (Food Adulteration) G0z, 555058 Beraress 25009)800.

(a) Is Food Adulteration punishable in India?
08 B8:5008" 57552030 50 Babesatioso FETr0? DBBOHS0.
Or 8z
(b) What are the top food products prone to Adulteration in India?
2RSS D808° SooITN 9B S0P e DO DSBOHS.
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FACULTY OF SCIENCE
B.Sc. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018
COMPUTER SCIENCE
(Programming in C++)
Time : 3 Hours] [Max. Marks : 80

PART - A (4 x 5 = 20 Marks)
(Short Answer Type)
Answer all the questions.

1 What are Inline Functions? Give example.
Define Constructors and Destructors. Write its syntax.

What are the Formatted 1/O Operations?

= & B

How bad_alloc exception is handled?

PART - B (4 x 15 = 60 Marks)
(Essay Answer Type)
Answer all the questions.

5. (a) Explain about Overloading Functions.
Or
(b) Write a Program for Multi dimensional array.
6. (a) Write a program for Overloading Constructors.
Or
(b) Explain about Inline member Functions. Give example.
7. (a) What are Virtual member functions? Give example.
Or
(b) Write a program for single inheritance.
8. (a) Write a program for Function Templates.
Or

(b) Explain about Exception Handling mechanism.
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Code No: 5062

FACULTY OF SCIENCE
B.Sc. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018
COMPUTER SCIENCE
(Programming in C++)
Time : 3 Hours] [Max. Marks : 80

PART - A (4 x 5 =20 Marks)
(Short Answer Type)
Answer all the questions.

1. What are Inline Functions? Give example.
Define Constructors and Destructors. Write its syntax.

What are the Formatted /O Operations?

I

How bad_alloc exception is handled?

PART - B (4 x 15 = 60 Marks)
(Essay Answer Type)
Answer all the questions.

5. (a) Explain about Overloading Functions.
Or
(b) Write a Program for Multi dimensional array.
6. (a) Write a program for Overloading Constructors.
Or
(b) Explain about Inline member Functions. Give example.
7. (a) What are Virtual member functions? Give example.
Or
(b) Write a program for single inheritance.
8. (a) Write a program for Function Templates.
Or

(b) Explain about Exception Handling mechanism.
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Code No: 5062

FACULTY OF SCIENCE
B.Sc. (I Year) Il Semester (CBCS) Regdlar Examinations, March/April 2018
COMPUTER SCIENCE
(Programming in C++)
Time : 3 Hours] [Max. Marks : 80

PART - A (4 x 5 =20 Marks)
(Short Answer Type)
Answer all the questions.

1 What are Inline Functions? Give example.
Define Constructors and Destructors. Write its syntax.

What are the Formatted I/O Operations?

il Sl

How bad_alloc exception is handled?

PART - B (4 x 15 = 60 Marks)
(Essay Answer Type)
- Answer all the questions.

5. (a) Explain about Overloading Functions.
Or
(b) Write a Program for Multi dimensional array.
6. (a) Write a program for Overloading Constructors.
| Or
(b) Explain about !nline_:member Functions. Give example.
7. (a) What are Virtual memberifunctions? Give example.
Or
(b) Write a program for single inheritance.
8. (a) Write a program for Function Templates.
Or

(b) Explain about Exception Handling mechanism.
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Code No: 5962

FACULTY OF SCIENCE
B.Sc. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018
COMPUTER SCIENCE
(Programming in C++)
Time : 3 Hours] [Max. Marks : 80

PART - A (4 x 5 =20 Marks)
(Short Answer Type)
Answer all the questions.

1. What are Inline Functions? Give example.
Define Constructors and Destructors. Write its syntax.

What are the Formatted /O Operations?

o

How bad_alloc exception is handled?

PART - B (4 x 15 = 60 Marks)
(Essay Answer Type)
Answer all the questions.

5. (a) Explain about Overloading Functions.
Or
(b) Write a Program for Multi dimensional array.
6. (a) Write a program for Overloading Constructors.
Or
(b) Explain about Inline member Functions. Give example.
7. (a) What are Virtual member functions? Give example.
Or
(by Write a program for single inheritance.
8. (a) Write a program for Function Templates.
Or

(b) Explain about Exception Handling mechanism.



Code No: 5062

FACULTY OF SCIENCE
B.Sc. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018
COMPUTER SCIENCE
(Programming in C++)
Time : 3 Hours] [Max. Marks : 80

PART - A (4 x 5 =20 Marks)
(Short Answer Type)
Answer all the questions.

1. What are Inline Functions? Give example.
Define Constructors and Destructors. Write its syntax.

What are the Formatted 1/O Operations?

A

How bad_alloc exception is handled?

PART - B (4 x 15 = 60 Marks)
(Essay Answer Type)
Answer all the questions.

5. (a) Explain about Overloading Functions.
Or
(b) Write a Program for Multi dimensional array.
6. (a) Write a program for Overloading Constructors.
Or
(b) Explain about Inline member Functions. Give example.
7. (a) What are Virtual member functions? Give example.
Or
(b) Write a program for single inheritance.
8. (a) Write a program for Function Templates.
Or \

(b) Explain about Exception Handling mechanism.
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Code : 201 2

FACULTY OF SOCIAL SCIENCES

B.A. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018

Time : 3 Hours)

S U

ECONOMICS - I
Core Course
(Macro Economics)
[Max. Marks : 80

Part A — (5 x 4 = 20 Marks)
Answer all the following questions.
B0y el (L ) G asa0800.
Explain the circular flow of income.
Sdon eordn ETU) D500k
Define APC and MPC with formulas.
APC, MPC (zi%20 DG (553, a0l I 5B) o srEred’ losod.

Explain the concepts of autonomous investment and induced investment.
fqeo (LD Tesged, (@08 Deged HEod DSEOBOG.

Write the defects of Barter System.

Siagsrtyd $eusT el Erabod,

Describe the types of inflation on the basis of rate of increase in prices.
g5t50 Fpous B Bex exgrdorT BT gyro S5oi Aootod.

Part B — (5 x 12 = 60 Marks)
Answer all the following questions.
B0l eaidy (EDID ered C05.
(a) Explain the nature and scope of macro economics.
“re e_‘:fjwa‘“‘go GRooty, eerEo SoB0Ta0 HBOD DS80S
orldor
(b) Explain the concepts of national income.
erBoirorano erates: totiod.
[P.T.O.

10.

(b)

(a

—

(b)

(@)

(b

~

(a

~—

(b

2 Code

Critically examine the classical theory of employment.
oo GEgier Lipemrly JGTEFOT 568o0s.

ongo
Calculate MPC and MPS from the following data:
Income 1000 | 2,000 | 3,000 | 4,000

Consumption | 600 | 1,000 1,200 | 1,300

& Bod Sorodo exgrdor MPC, MPS of 88 cisod:

[ ecraso 1000 | 2,000 | 3,000 | 4,000
[a0aio 600 | 1,000 | 1,200 | 1,300

Explain the role of MEC in investment decisions.
Besed Dijenhod” MEC ar@ d380i50k.
Orlde
Critically examine the classical theory of interest.
oo ;’;é B BEPCT) DotherdorT 2658050,
Explain the classification of money.
Gistgo $0sSeii DOt
oo
Describe Fisher's quantity theory of money.
o (ig o8 ey D5BoBCl.
Explain the causes and effects of inflation.
BT gm0 T 5368 Pooress D500
oridoe
Explain the phases of trade cycles.
r&;ﬁ“iﬁ Bpre SEeDs Ntonod.

: 2012



Time : 3 Hours)

Code : 2034

FACULTY OF SOCIAL SCIENCES

B.A. (Il Year) IV Semester (CBCS) Regular Examinatiohs, March/April 2018

POLITICAL SCIENCE
(Indian Government and Politics - I1)

[Max. Marks : 80

Part A — (5 x 4 = 20 Marks)
(Short Answer Type)

Answer all the questions:
0 (HHED BITERES0 (@50

1. National Minorities Commission.
D05 eoyIopss $¢ HoHL.

2. Judicial Review.

D‘!S(.ﬁj ?C\gl)g

3. Gentlemen Agreement.
b%m.ﬁjzpc &:)30550.

4. Million March Agitation.
DS By &3 Hoe.

5. Student Joint Action Commission (JAC).
o) Hockel sToTgste Eoed.

Part B — (5 x 12 = 60 Marks)
(Essay Type Answer)

Answer all the questions:
) (HEHEE HETESse Erafhoso:

6. (a) Briefly write about National Human Rights Commission (NHRC).

(b)

2rEIGT S0 S0 BA0NS S0Pt K8y Fraod.

Or 8o

Explain about powers and functions of Governor.
K35,5 GBooy, wfsores S8k Do JB0oSL.

[P.TO.

7. (a)
(b)
8. (a)
(b)
9. (a)
(b)
10. (a)

2 Code

Discuss about Nizam rule to Emergence of Hydérabad State.
PEoers o doytnd” Do o HBod Jgheas.
Or 8o
Briefly write about First phase of Telangana Agitation - 1969.
Boorre Gigioo Ao, §OEE5:-1969 @aindn.
Role of National Parties in Telangana Movement.
Boorres édpiood” rdAb o T Doed?
Or 8o~
Write about National SC and ST Commissions.
rSAD Dixd Koo $obahn S Bife KB HBD Frabod.
Powers and functions of Chief Minister. ‘
S0pg500(@ ef5 ors $00n Do KXl Frobod.
Or 8o

: 2034

Explain about State reorganisation and formation of Andhra Pradesh.

TR0 HRHOGHRESES B0 LOEEHBES Domk0 Krd) 5OoBB.

Discuss about second phase of Telangana Agitation - 2001-2014.

Beoorre el Gots &F (2001-2014) So D500,
Or 8o

Explain about role of Joint Action Committees.
Sockul SOt Eotde i DisBopH.
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Code : 201 2

FACULTY OF SOCIAL SCIENCES

B.A. (I Year) || Semester (CBCS) Regular Examinations, March/April 2018

ECONOMICS - Il
Core Course
(Macro Economics)
[Max. Marks : 80

Part A — (5 x 4 = 20 Marks)
Answer all the following questions.

Bob el ot wated EraEa500.

Explain the circular flow of income.

Sdon woran ETUY) oot

Define APC and MPC with formulas.

APC, MPC (530 DS (3388, é'08 JIDTH (55,8) e SrEred VDosed.
Explain the concepts of autonomous investment and induced investment.
ESenes G esged, 208 2y 3308 80D Dsboncs.

Write the defects of Barter System.

SgEroyd $QBE &irei Erabed.

Describe the types of inflation on the basis of rate of increase in prices.

S50 arass piorte Beas escrior (S yese S5d AsBotos.
% P50

Part B — (5 x 12 = 60 Marks)
Answer all the following questions.
Bob el ot et O,
(a) Explain the nature and scope of macro economics.
e eEHe Bk, HErae So8050 DBOD DdoSel.
Orféo
(b) Explain the concepts of national income.
e BOFOrORo ErSSus ISBoDod.

[PTO.

2 Code

7. (a) Critically examine the classical theory of employment.
Broporash &Sier hpowdy Dl EsonT SeHeH0G.

[o]/lay
(b) Calculate MPC and MPS from the following data:
[ Income 1000 | 2,000 [ 3,000 | 4,000
| Consumption | 600 | 1,000 | 1,200 | 1:300

&2 Bod Sgrcio egrdorT MPC, MPS o5 88 cdod:

[Slagarve 1000 | 2,000 | 3,000 | 4,000
2B 600 | 1,000 | 1,200 | 1,300

Explain the role of MEC in investment decisions.
2ped Dganod” MEC @i ddoisods.

(o]flad
(b) Critically examine the classical theory of interest.
oo :Jé e .’ocﬁ;c@’ﬂ)a DSaGETEEaT 26880S0d.

9. (a) Explainthe classification of money.
0 SfsoeRt DBBoHed.
(o]ilay
(b) Describe Fisher's quantity theory of money.
26 s 08 Drpooriy DteSos.
10. (a) Explain the causes and effects of inflation.

oy Foeroi 58 e 2sboed.
Orldo
(b) Explain the phases of trade cycles.
T gte RO Balnlalotnle o

:2012



CODE NO: 2041
FACULTY OF SOCIAL SCIENCES
B.A. |-Year I-SEMESTER (CBCS) Backlog/lmp Examinations, May-2018.

Economics
Micro Economics
(Paper-1)
/ime: 3 Houfs} Max Marks: 80
s SECTION-A
(short Answer Type)
Answer All Questions 5X4=20

1. Define Micro-Macro Economics.
&g -Hire @ga“[r_'é_a‘me;ﬁ: ﬂd‘s".)otﬁod.
2. Write about budget line.
=g B 80D (Fedbod.

3. What is Production Function?
a&H Heo ©Sram?

4. What is Price Discrimination?
55 DS wIPIN?

5. What is selling costs?
oyl Sgare wol} Hé?

SECTION-B
(Essay Answer Type)

Answer the questions 5X12 =60
6. a) What is Elasticity of Demand? Explain the kinds of price elasticity of demand.

&smol a‘géseﬁééo SBFID? &8 &sral 355‘6650 Bsrod DHBoSod.

OR
b) Critically examine the Rabin's scarcity definition of economics.
DS, 68 DEFIEE Do $80o0l.

7. a) Explain the law of diminishing marginal utility theory.
Astarod (HRErad Nopoddnd DitoSod.
OR
b) Explain the consumer equilibrium with the help of indifference curve.
DAAPKTHRD $HT 050 achisd Hsbpe SFFabod® DBbodol.

8. a) Explain the law of variable properties.
Sordnded dr@snd DSBodod.
OR
b) Define and explain the types of internal and external economies.
@Dc‘.‘§i‘ S08din m:rigd Sored AHoD 8 Soreid DHBodol.

9. a) What is Market? Explain the characteristics of perfect competition market.
Soops osram? Sodry SrptS ool DHBoSok.
OR
b) Explain the firm and industry equilibrium in the short period under perfect

competition.
s03g A Gyecs® Sog Hdak HOED Siod ey Didoidod.

10. a) Explain the price determination under monopolistic competition.
Deaey B BrySEt GENgA DorerRy DBbodod.
OR
b) What is Oligopoly? Explain the price rigidity under oligopoly.
SBMEPERC SITID? SBMEFgodt 8 GieRy DEBodol.



CODE NO: 2043
! FACULTY OF SOCIAL SCIENCES
B.A. ll-Year I[I-SEMESTER (CBCS) Backlog Examinations, May-2018.
Economics
Quantitative Methods for Economic Analysis

Time: 3 Hours Max Marks: 80
SECTION-A
(Short Answer Type)
Answer All Questions 5X4=20
1. Llinear and Non-linear functions.
¢ Bgrd)s BBk $5¢ Bypggo T (Shdires.

2. Define random and non-random sampling.
afrtynE Ebake airEyEo S0 FHBSahred DgDosod.

3. Define mode and calculate mode from the following data
wodR) DD0D, Sigod daodo Hod aludsR Bosod.

2.10,3,5.10,4,11,10,2, 3,10, 3.5. 2

4. Explain the importance of the correlation.
Bedomogio GoE) [Emiits Folalelntelal

5. Explain any four merits of the time series analysis.
sodme @ng HID ren® HEraTod ool

SECTION-B
(Essay Answer Type)

Answer the questions 5X12 =60
6. a) Explain the importance of quantitative methods in economic analysis.

g8 ke Sodrmd)l SEibe DY) s BBl

OR
b) What are the basic functions in Mathematics?
KdsaeHos® (g Bloires DG?

7. a) Explain the types of diagrams for presentation of data.
SErod SHges® H@gsire So DSdotol.
OR
b) Explain about the methods of collection of data.
Barod ¥ é%éﬁaa:’n DHBoBo.

8. a) Define average and explain the properties of a good average.
Hrfend D8i00D, &od Hiien GoBebsd ool dStodol.

OR
b) Calculate the median from the following data:
Hl2ob Soeodo egrdore Horgerieedy Eé&oeﬁo&.

Class interval 1

S50 wodso | 00 20-25 | 2530
I Frequency

‘ Breadige

]
5-10 | 10-15 | 15-20

o | 2E

4
g

9. a) Define Correlation and explain the types of correlation.
Ssdonagrl) AtyDod, SEvonodo Sseed Bodod.
OR
b) Cakulate Spearman’s rank coefficient of correlation from the following data.
GyBob Berodo egrdore ayerstetts U“SOE Sedonot Hnwy) B&odod.

R]6|1[5]24]3
Re |3 |1]4]2]5]6

10. a) Calculate price index numbers from the following data with Laspeyre’s and
Passche’s methods.
&iBoh Berodo egrdorT eraahB b B K)géwﬁ" Ee Hrd Hompd

aéaofsc(’;‘,.

Goods | Price in 2016 | Quantity in 2016 | Price in 2017 | Quantity in 2017
Y

Stghes | @8 (2016) | gBsrmo (2016) | &8 (2017) SBSrea0 (2017)
A | 5 10 4 12
B | 8 6 7 7
[ 6 3 5 | 4
OR

b} Define cyclical variations and explain the uses of cyclical variations.
S DS VTeD, w8 PRraTed duled.
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Code : 2024
FACULTY OF SOCIAL SCIENCES
B.A. (Il Year} IV Semester (CBCS) Regular Examinations, March/April 2018
HISTORY

[History of India (1858-1964 C.E.)}
[Max. Marks : 80

Part A — (5 x 4 = 20 Marks)
(Short Answer Questions}
(083 oo warwed)
Answer all questions:
@) BEER EETases oo
1. Lord Lytton.
B3 (g,
2. Swami Vivekananda.
gds o,
3. Indian National Army.
4. Left-wing Movements.
5. Sardar Vallabhai Patel.

wr =£
?60:5 Jgeross S5E3.

Part B — (5 x 12 = 60 Marks)
(Essay Questions)
(S’é}b{ﬁ“ﬁ Lﬁé&m)
Answer all questions:

@) PR FSRIIRIB00DS FCIN:

6. (a) Describe the role of Press in the social and political awakening of modern
India.

D gr o B rETEs Sodoko redab pHaes Bi@s @t D00TEw.
Or &
{(b) Write a note on Lord Rippon’s policies and their impact.
ByS (3503 ool, Hgrarnds Sedais Tred phgrary 1Sy e,

[P.T.O.

>

7. (&)
(b)
8. (a)
(b)
9. (a)
(b)
10. (a)
(b)

2 Code : 2024

Why Raja Ram Mohan Roy is considered to be the father of Modern Indian
renaissance? .

e T DS 0ra%h el grOS 08 Ao, B8 sprotoe§isid hesr et -
DO T

Or &
Describe the efforts of Jyathibha Phule and Narayan Guru for reform of
Dalits.
SO0 o, Snts Sfur F S0ty Toue Kads 30 dened:
B0,
Examine the formation of Indian National Congress and its moderate and
extremist phases of Freedom struggle.
Sreo Foreiod grdd B Fofn Homes Sibah 7D WETO, BT

oF

Sigess HOI8otss.

Or 8o

Write an essay on Gandhiji's rale in achieving freedom.

- oty ssadrgud’ mold T w8 i Eriindos.

Discuss the impact of Revolutionary Movements during Freedom struggle.
Frpoe Poeod® IS aagire Ferary Igptuso.
Or &

Write a note on Bhagat Singh and his associates for India's freedom.

Ty am Oy g

B4 SrdoEDs eidhol SEahy el BlEbeR Tgrgtobob.
BRI o, )

Analyse the conditions which led to the partition of India in 1947.
1047 e B9 Dafenstss o0 HMS DI BORPHoK Dnothui.

Or &

Describe India's development under Jawaharlal Nehru

* enberd Bpro rond” o OF w500 Jslolivies.
C
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Code : 2022
FACULTY OF SOCIAL SCIENCES

B.A. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018

Time : 3 Hours]

HISTORY
Paper |l
(History of India (C.700 - 1526 CE))
) [Max. Marks : 80
Part A — (5 x 4 = 20 Marks)
(Short Questions)

I, Answer all questions in not exceeding 30 lines each.

@) BFEHEE 30 e85 DHoBEIOGT BT [ErOKaE.

1.

Pallavas contribution to culture.
Bope BB,
Md. Ghazni.
Guru Nanak.
ratso TS
Architecture of Hoyasalas.
Fowwo TSt
Battle of Thallikota.
S9Ter cfge.
Part B — (6 x 12 = 60 Marks)
(Essay Questions)

Il. Answer all questions choosing one (a or b) from each module and in not exceeding
100 lines each.

6.

& & ¥ (a0rb) JeteS A e &

. B T b o Vi O R DI,
¢ 100 3cK0C SootSs0ET BRIt QSacR00:

(a) Describe the administration of Cholas

Féco IBTred IS0oDiS.

[P.T.O.

7. (@)
(b)
8. (a)
(b)
9. (a)
(b)
10. (a)
(b)

2 Code : 2022

Estimate Md. bin Thuglagq as the Sultan of Delhi.
& oo S B &ih0 wot oz,
Or Zor
Describe the Administrative Reforms of Allauddin Khilji.
wnhS HF BoToR oy S DBBoSE.
Write an essay on Bhakti Movement.
878 eatighuntiood 5 TR T R,
Or 8o
Write about the Sufi principles and their impact on Indian Culture.
by 5088 Dpomres Sobots bl Seiy, ) B Bersn 1G) rosaoses.
Discuss the achievements of Rani Rudrama Devi.
ol oo B pondiit Do,
Or &
Explain the administrative system of Kakatiyas.
csBote SoSres DEratos DD
Describe the cultural contribution of Sri Krishnadeva Raya.
Bl oroie o, B8 Hieis Do,
oréo
Briefly state the rise, expansion and decline of Bahamani Kingdom.

4 2 Dppet sk Tyeg vy AL L Ly KT b
2 Oresg I, S0 cIOTI siralonedd Eaaon [Elohre) U uN




Code : 2044

FACULTY OF SOCIAL SCIENCES
B.A. (Il Year) IV Semester (CBCS) Regular Examinations, March/April 2018
PUBLIC ADMINISTRATION
Paper 407
(State Administration and Emerging Issues)

Time : 3 Hours] [Max. Marks : 80

Part A — (5 x 4 = 20 Marks)

(Short Answer Type)

I.  Answer all the questions:

T Sy e
VAN @RV AT SRRV LEV SR

2. President Rule (356 Article).
oPRd ol (356 3 SOE3ERD).

3. Collector-Revenue functions.
5E55-2h0ry Desee.

4. Chief Secretary.
Eeapilye el

5. Public Interest Litigation.

Part B — (5 = 12 = 60 Marks)
(Essay Answer Type)
II.  Answer all the questions:

S TR "
y SEFrorasoes Erofes:

6. (a) Write an essay on powers and functions of Gavernor in new Telangana

State.
§g Boorn opRed TH 56 esdmdies, on THEM FAID0.
Or &

000

PT.O.

10

(b)

(a)

(@

(b)

(b)

2 Code : 2044

Critically examine the relations between Secretariat and Directorates in
Telangana State.

S0oiTe T Roas BT eMoH0-RcTes SO uoliY 33655 woweods
PN SRR
P o (akt) NV

Or &
Write about the Grama Panchayat structure and functions.
im0 BoTrond DomEdar Sl efsThRu0s Fraisilo.

Write an essay on the role of Collector in Land Revenue Administration
at District level.

ey Jrooof’ BDITG T, 5T56 D o8 TN @rakesioo.
Or &

Explain the features and recommendations of 2nd Administrative Reforms
Commission.

BoksS aroT ;

Seme Dotulon Sisarredres, nPdioey DS0cma.

Explain the importance of E-Government in Telangana Administration.
Boore Tosd S-TTERcn: rEngid 2500nan.
Or dov

Discuss the importance of "values” and “ethics” in Administration.

~ B o I e e n C O 1 . I,
Seode rodd® “Duudus” ol DT ook, ERI PR DO
= ] b =y L)

Write an essay on Right to Information Act.
DBTTY Thy, DE0R TR EUInE.

Or o
Explain the Legislative control systems in Administration.

ooy RS Ty Jaboer HGFoby IV00PD
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Code : 2024
FACULTY OF SOCIAL SCIENCES
B.A. (Il Year) IV Semester (CBCS) Regular Examinations, March/April 2018
HISTORY
[History of India (1858-1964 C.E.)]
Time : 3 Hours] [Max. Marks : 80
Part A — (5 x 4 = 20 Marks)
{Short Answer Questions)
(5083 wépo ssrR0e )
1. Answer all questions:
D) SHOS ETraoes FRoieaN
1. Lord Lytton.
S e,
2. Swami Vivekananda.
Qe DsmHes.
3. Indian National Army.
4. Left-wing Movements.
T, datighren.
5. Sardar Vallabhai Patel.
308 Sggrow 5365
Part B - (5 x 12 = 60 Marks)
(Essay Questions)
(Frgesms GEHeo)
Il.  Answer all questions:
el BEHLE RIS EI0S FRCIG
6. (a) Describe the role of Press in the social and political awakening of moderm
India.
SEODE e B s Soduks creah Pingd” B0 S D00ERL.
Or 8o
(b) Write a note on Lord Rippon's policies and their impact.
iy @i o, Doriredy Sl el Ty MGy reiaota,

[P.T.O.

7.4

(b)

(b)

10. (g

(b)

2 Code : 2024

Why Raja Ram Mohan Roy is considered to be the father of Modern Indian
renaissance? .

oo BFS orob wguls eros 3 Trom, y85 Tg)asdaa_-;‘;’;ié SRETE TR ~
Dot

Or g
Describe the efforts of Jyothibha Phule and Narayan Guru for reform of
Dalits.
S0000 BoinSns S5O WS S0y Teun K8 308 wEyeds
25800082,
Examine the formation of Indian National Congress and its moderate and
extremist phases of Freedom struggle.
Fretod Fowod’ i il elin Domye boie o) ST, eFTE
Sods HEB oS,

Or &or
Write an essay on Gandhiji's role in achieving freedom.
rsoss 500’ modd @R e s ERaoSes.
Discuss the impact of Revolutionary Movements during Freedom struggle.
o Foeos D55 i Berary Soyodiedo.

or &
Write a note on Bhagat Singh and his associates for India's freedom.

3% ol Srdhof 580y el SEeD TETHRoLNL.
5

Analyse the conditions which led to the partition of India in 1947.
1947 el B% Deiesss oo Bl DDg Bofdooo DEheista.
Or &

Describe India’s development under Jawaharlal Nehru.

wsberd dpro Trond” roi BF elG(l bt
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FACULTY OF SCIENCE
B.Sc Il Year — IV Semester (CBCS) Regular Examinations, May-2018
Computer Science
(Database Management Systemns)

3 Hours Max Marks: 8C
Note: Answer all questions in Part A and Part B.

SECTION -A
(Short Answer Type) (4x5=20 Marks)
Answer these questions at one place only

Discuss about File based system.
What is Multi-table Queries? Give example.
What is Transitive functional dependency?

\What is advantage of multi-version times larp ordering?

SECTION-B
(Essay Answer Type ) (4x15=60 Marks)
Answer the following questions in not exceeding 90 lines each

a) Discuss about Three-level of ANSI —SPARC Architecture with advantages of DBMS.
(OR)
b) What is Integrity Constraint? Explain Aggregation and joint operations in
relational algebra with example queries.

a) (i) What is View? Discuss view updatability with CHECK OPTION? Give example.
(ii) Discuss Granting and Revoking Privileges?
(OR)
b) Explain control statements and exceptions in SQL Programming? Give example
program.

a) (i) What is Enhanced Entity? Discuss the differences between generalization and
aggregation.
(i) Explain in brief about multi-valued dependency and joint dependency.
(OR)
b) What is the purpose of Normalization? Explain BCNF and 3NF.

a) Explain optimistic techniques and Granularity of Data Itemns.
(OR)
b) Explain Access Controls, Authorization and Recovery in database.



CODE NO: 2043
EACULTY OF SOCIAL SCIENCES
B.A. ll-Year 1I-SEMESTER (CBCS) Backlog Examinations, May-2018.
Economics
Quantitative Methods for Economic Analysis

Time: 3 Hours Max Marks: 80
SECTION-A
(Short Answer Type)
Answer All Questions 5X4=20
1. Linear and Non-linear functions.
st B Db 1$8¢ Sardydo =0 (Bdbairen.

2. Define random and non-random sampling.
Ay Hbakn di?t.Se)Q}éo = [HBSchTed :)é_sﬂo“ﬁo:’.‘..

3. Define mode and calculate mode from the following data
piutsR V600D, SiSed gavodo Hol oloEsR) 28 0iol.

2.10. 3, 5,10, 4,11,10,2,3,10.3.5,2

4. Explain the importance of the correlation.
Sdedonogo o) [Nt DHBobol.

5. Explain any four merits of the time series analysis.
weofime Eng ST weend Sd@ramred DS80Sl

SECTION-B
(Essay Answer Type)

Answer the questions 5X12 =60
6. a) Explain the importance of quantitative methods in economic analysis.

685 Dind® Sesrards Sgbe o), Prersgss DBBosod.

OR
b) What are the basic functions in Mathematics?
KBS (G Habdiren DA?

7. a) Explain the types of diagrams for presentation of data.
Srod SHEES” YFdire Eowm D5BoSol.
OR
b) Explain about the methods of collection of data.
Sarod HEdn SPdoid 2¥BoPod.

8. a) Define average and explain the properties of a good average.
Briend gD, H09 Bt aolHond ug_wué: DEBoSol.
OR
b) Calculate the median from the following data:
Sifiod Gorodo egrdore Sgien) 8%odod.

Class interval
S56158 wodto

Frequency
Breai Do

9. a) Define Correlation and explain the types of correlation.
DEPDODOGPRY DBDoD, Sumhonodo dsred Bodol.
OR
b) Calculate Spearman’s rank coefficient of correlation from the following data.
Bifod Berodo agrdorT a5HERS o508 SrBonot Fomsed a&odol.

Ro[6]1]5(2]4a]3]
R, |3|114]2[5]6

10. a) Caleulate price index numbers from the following data with Laspeyre’s and
Passche’s methods.
GilBod Sero¥o egrdorT erinabb BB > ‘u’acgriwé" ste drd Somgpd
28ool.

Goods | Price in 2016 | Quantity in 2016 | Pricein 2017 | Quantity in 2017

Sopen | &8 (2016) HoSrmo (2016) &8 (2017) Hbdrmo (2017)
A 5 10 4
B 8 6 7
C 6 3 5
OR

b) Define cyclical variations and explain the uses of cyclical variations.
Sibiah DIbereh DD, B BAraTod Bodod.



8. (a)

(b)

9. (a)

(b)

10. (a)

(b)

11. (a)

(b)

12. (a)

(b)

13. (a)

(b)

2 Code : 20422

Explain the functions of money.
(55350 GBooy, DO SO0,
Or/dor

"Bad money drives good money out of circulation”. Comment.
"D (5550 So0D (TG Sersoed Moo SBNBOD” TETRoSd.

Examine the phases of Trade cycles.
D‘sﬁ"d JEre S0 KHdod DStokod.

Orfde

Describe the causes of Inflation.
(BT gnEs0 STETORDH K800 Boyd.

Briefly describe the functions of the Reserve Bank of India.
OB Destioy 258 OB HHBoD Lo Bvyok.
O
What is the role of SEBI in controlling stock markets in India?
grOBE¥0S° 8 S8 DooBoiscios” 2 TR Beyd.
PART C - (Marks : 5 x 12 = 60)

Answer the following questions not exceeding 3 pages each.
5 308 3T T3S Koo e WOTEOGE DI @505,

Examine the scope and importance of Macro Economics.
BT egTy SO0 SO PSP 00D $08DoBod.
| Orfde

Define national income, Explain the cbncepts of national income.
PHAPETATR ASIOD), eFBOITErob FrSSoss 1580S0s.

Critically examine classical theory of employment.
FoETrah eBgNES DToTT ISO0YHI.
' Orlde
Explain the Keynes theory of employment.
£85) &8§0S rposed) DS00HI.
Critically examine Fisher's quantity theorv of money.
P26 ((5:550°8 DEpoER) NG EFr S00 Sok.
Or/doe -

Write the problems of Barter systerm.
5353 50y 568" HF) R Kdod Erabod.
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Code : 20422

FACULTY OF SOCIAL SCIENCES
B.A. (Il Year) Examination, October/November 2017
ECONOMICS
Paper |
(Macro Economics)
Time : 3 Hours] [Max. Marks :100

PART A - (Marks : 5 x 2=10)
Answer all the questions not exceeding 1 page.
@D&o‘ﬁﬁ 2.583 8o Boch ;)‘=S°5e>e5£ NSTTT0 Frohod.

1. Disposable Income
égoxrg 0000

2. Marginal propensity to save (MPS)
o8 ) BB

3. Credit Money.
ST G50

4. Economic Depression
e@g 3.15“06550

5. SEBI
%)

PART B - (Marks: 5 x 6 = 30)
Answer the following questions not exceeding 2 pages each.
8 (300 30y 336 Botts Sefe Dostooc SErEre @ oo,

6. (a) Explain the problems arising in calculation of national income.

FBArCrard), B8,00550680 5i59) B DSBoSOE,

Or/dge

(b) Explain the methods of calculating national income,
2BATTOH >80 SEB05 DSB0E50.

7. (a) "Supply creates its own demand". Explain.

‘?.56223 B3 GSrocos &3 D0SO0e008? DSBS,

Or/gge

(b) Explain the Keynes psychological law of consumption function,
45) 30525 DN 5(S085> D3Bososn,

[P.T.O.

i o —



Code : 20422

FACULTY OF SOCIAL SCIENCES
B.A. (Il Year) Examination, October/November 2017
ECONOMICS
Paper I

(Macro Economics)
Time : 3 Hours] [Max. Marks :100

PART A - (Marks : 5 x 2 = 10)
Answer all the questions not exceeding 1 page.
@D&oeﬁ 2.5¢3 8o Boc TS’ SSrorTres Erahod.

1. Disposable Income
ésotirg egro0

2. Marginal propensity to save (MPS)
08 Je) (5358

3. Credit Money.
SEH8 3350

4. Economic Depression
&0 Srotio

5. SEBI
8

PART B - (Marks : 5 x 6 = 30)
Answer the following questions not exceeding 2 pages each.
& 300 38 TeIS° Bothr Selew rosome SIPTT e @ oo,

6. (a) Explain the problems arising in calculation of national income,
TR 8%,00i58y0 332y B IFBoFod,

Or/der
(b) Explain the methods of calculating national income.
SO0 50803 SEB00S DSBS

7. (a) "Supply creates its own demand". Explain.
DY BB GIToOH B 006008’ DS0058,

Or/gor

(b) Explain the Keynes psychological law of consumption function,

£5) 57505 DIGPN 5B0%> N3Boriin,
[P.T.O.

- . i ———. i ——



T

(b)

(b)

10. (a)

(b)

1. (a)

(b)

12. (a)

(b)

2 T Code: 20422

Explain the functions of money.
(Be550 BT, GOV JSOOY0.

, : Or/éee
"Bad money drives good money out of circulation". Comment.
“DE (3550 300D (BT Wersoed Hood SBABB” FgrsoBod.
Examine the phases of Trade cycles.
;7°§3°<‘5 IEPe S0 B0 AsOoNod.

Or/dor

Describe the causes of Inflation.
B0 e H80D Boyd.

Briefly describe the functions of the Reserve Bank of India.
OB B3ty 2508 DG HB0D Ko Boyod.
Or/ger '
What is the role of SEBI in controlling stock markets in India?
gro8tH0s” L8 5570,e5 AoboBoistos’ 28 FES> Boyod.
PART C - (Marks : 5 x 12 = 60)

Answer the following questions not exceeding 3 pages each.
5 Bod 33 TS S Heden WoTLOE BETTR R0 @K,

Examine the scope and importance of Macro Economics.
KT QT S0§ So0a Franggs K000 $508doodk.
| Or/dee

Define national income, Explain the concepts of national income.
PBACTAT) A5, PAOITrEAb FrSSoss TSdotod.

Critically examine classical theory of employment.
TroRTrab BN DEToT Y ISOoHI.
EE Orféer

Explain the Keynes theory of employment.
£5, &E5AS Bepoerd) DS80S,

13. (a) Critically examine Fisher's quantity theor_\- of money.

26 (55508 DepoT) ISoGTrEEor Jasdo So&.
Or/dor B

(b) Write the problems of Barter syster:.

333 S70Y% SEBE° HF) FEotHuso K00 @G



14. (a) Define Inflation. E

3

Xamine the effects of Inflation.

@5565@23890553 DGSQOD, [[55y SYE0 Berares, éie)n)od‘u.

Or/8e

Or/éoe

(b) Explain the functions of Commercial Banks.
3‘8’3&35 EFF0500 oo 80D Bnod.

e

Code ; 20422



Time : 3 Hours]

Code : 2042

FACULTY OF SOCIAL SCIENCES

B.A. (I Year) Il Semester (CBCS) Reg ular Examinations, March/April 2018

PUBLIC ADMINISTRATION

Paper 207
(Development Dynamics and Emerging Trends)
[Max. Marks : 80

Part A — (5 x 4 =20 Marks)
Answer the following all short answer guestions.
G S0l el PEEE R DETEEHE0BS EEAICH0.
Explain the scope of Comparative Public Administration.
HoomriE HF0d; Tros S6§ X[,
Discuss the major points of Minnowbrook-Ill Conference.
T yars-ll SurSEsend PERS oo BOY0RE.
Explain the New Public Management as Neo-Taylorism.
g Sobadarr SrE:s @iy 0oEes WS0oYB.
Public Policy.
(g DG05I0.
Explain the Global issues.
Suedsoes B0 JH0oWD2.

Part B — (5 x 12 = 60 Marks)
Answer the following all essay type questions.

G Bod oy WS THEETS SETErEsie 0D,

(a) Define Comparative Public Administration. Discuss its features.
Qx}éﬁa‘i“lﬁ Ldn::e';ﬂ‘s Tesss ‘”\.\C.:S:JOLU oo f.ﬁr.‘:"d::& E@JOQ}J&J.
Or &
(b) Write an essay on the nature and scope of Development Administration.

NBErEd HEroHn oboks 200D wgdo frjgsvSULLR

[P.T.O.

7. (@)

(b)

(b)

9. (a)

(b

~

10. (a)

(b)

\Ws 15

2 Code : 2042

Explain the New Public Administration main aspects.
BPBS @iy FosSD BEE woTomk DSBHIW.
Or &
Discuss the New Public Administration Minnowbrook-Il Conference.
SIS EEsEres WTyerSs -l HErdis 5' soren SHowB0.
Write an essay on Public Choice Approach.
D ySEsnD TEHN0 Frad.
Or &
Explain the features of New Public Management.
DS S Qo 0RETORS inlelobe) UL
What is Governance? Explain its features.
15583y w307 @D VEETes) JD00HD0.
oréor
Write an essay on Development Programmes in the State of Telangana.

R 3 T e Y LBV B o MK T ™y w0 A 5 o i
3CCITED C"&G?)wﬁ}%}é esaioe ucl__%r‘.’)c) Uﬁ;ij% S’L.E<3'§.;’u°(l?:‘ o écﬁ;‘w GRS S VRN

Assess the changing nature of Public Administration in the context of
Globalization.
oyt

e P - ., ., o pe
Bolsde Gnggind Srdodan EgEOS RegrTny

Or &
What is Globalization? Explain important points of Globalization.

modETe eITE? BRedEsnd’y Herd woTods AS00HR.

<
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Code No0:2041
FACULTY OF SOCIAL SCIENCES
B.A. |-Year I-Semester (CBCS) Backlog Examinations, May-2018
Public Administration
(Basics of Public Administration)

Time: 3 Hours Max Marks: 80
Note: Answer all questions in Part A and Part B.
SECTION -A
(Short Answer Type) (5x4=20 Marks)

Answer these questions at one place only
& (Bod o) BHo HEERSSnen (EPdSnn.

1. Define Public Administration.

(D08 aPodd QB§DOBED.
2. Relations between public admi — Economics.

[©ghdy drod — o8 TR V0RO
3. POSDCORB - Explain

Qﬁgsv@ = DHBoDW.
4. Importance of Kautilya.

TR — (@rd0pgs.
5. Abraham Maslow on needs of Hierarchy.

oo PP ostTe EIrHns (Bd?

SECTION-B
(Essay Answer Type ) (5x12=60 Marks)
Answer the following questions in not exceeding 90 lines each
& (800 o) BHoH TRErD HSereddnen (Feadosi.
6) a) Explain meaning and importance of public Administration.
($98D& FoT TR @geﬁm, @“a’mmééﬁn DSBoHEm.
(OR)
b) Explain relationship between Public Administration Law and psychology.
©e0dy o T[S — Ty e08, DS FPR8 Hogse Soworreid BendHSw.

7) (a) Explain the importance of Kautilya & Administration.
Fodp B8 G DHBoHIW.
(OR)
b) Explain the classical approach of Luthar Gullick and Lyndall Urwick.
FolHahs drpod 3EBS — orgbrgs - DoweS &0 HETRY DBBoHAW.

8) a) Explain the views of Maxweber Bureaucratic approach.
SrEyRed ea%n Jgy HEHTRY, DBB0HBw.
(OR)
b) Explain the views of F.W.Taylor on scientific management principles.
F.W. 8eb @of), s@sn dogin Srgew DB

9) (a) Evaluate the contribution of Elton Mayo to Human relations approach.
PSS Howogre PSEIDH — Y] BB ©od0d% Do BenHiw.
(OR)
b) Discuss the MC Gregor on X and Y theories.
&5 B8 (166 @wgy X @8 Y Rrpodsin $8)0w.

10) (a) Explain the views of Simon on decision making.
258 DPonsBes Vrpodotd DHBoHB0.
(OR)
b) Write an essay on F.W. Riggs Ecological — Approach.
F.W. 8f) rod ot Drpodsn 3 TR (@rcinsins.



Code : 2022

FACULTY OF SOCIAL SCIENCES
B.A. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018
HISTORY
Paper Il
(History of India (C.700 - 1526 CE))
Time : 3 Hours] [Max. Marks : 80

Part A — (5 = 4 = 20 Marks)
(Short Questions)

I, Answer all questions in not exceeding 30 lines each.
@l @St 30 Sethe oSBT BB oo,
1. Pallavas contribution to culture.

Sege Kerias.
2. Md. Ghazni.
3. Guru Nanak.
rods s,
4. Architecture of Hoyasalas.
Facre THgBoysT.
5. Battle of Thallikota.
:‘;’fm oo,
Part B - (5 x 12 = 60 Marks)

(Essay Questions)
Il Answer all guestions choosing one (a orb) from each module and in not exceeding
100 lines each.

(s ayid e.8ed (@ or b) JeineE D el FRC 100 D050 B0
i =S -

SO RITPE0OS GAISI.
6. (a) Describe the administration of Cholas.
Fitso Barel A5boliln.
Or o

(b) Estimate about the greatness of Pulakeshi-ii
B Tl Alnuso wolla® Batod.

[PTO.

7. (@)
(b)
8. (a)
(b)
9. (a)
(b)
10. (a)
(b)

2 Code : 2022

Estimate Md. bin Thuglaq as the Sultan of Delhi.
G& Bomsa ,m“:-;‘é 85 tf\_:g_.: SOST® SaiuRe.
Or &
Describe the Administrative Reforms of Allauddin Khilji.

eiphs P Riorepohily

Write an essay on Bhakti Movement.
&% aghetoog &8 T FCI00R.
Or &
Write about the Sufi principles and their impact on Indian Culture.

s 556 Brromres Sodcke groBab Seiy, ¥ EErEt ! Ty EESSs.

Explain the administrative system of Kakatiyas.
enBane SOTres DGrHGe 0.
Describe the cultural contribution of Sri Krishnadeva Raya.
&5‘:}:‘;6; oo ol o5 St DHBolomo.
ordo
Briefly state the rise, expansion and decline of Bahamani Kingdom.

e o RS, Dides So0oi SESDE0 KaonT BosR.
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FACULTY OF SOCIAL SCIENCES
B.A. |-Year l-Semester (CBCS) Backlog Examinations, May-2018
Public Administration
(Basics of Public Administration)

Time: 3 Hours Max Marks: 80
Note: Answer all questions in Part A and Part B.
SECTION -A
(Short Answer Type) (5x4=20 Marks)

Answer these questions at one place only
& 800 o) (HHes BSoepedoe (Feasns.

Define Public Administration.
(ghey PodH Do,
5. Relations between public admi — Economics.

(HeHey o — @g R Dowogren
3. POSDCORB - Explain

@5565’95?) = DHBOW.
4. Importance of Kautilya.

FBengd — (@eXoags.
_ Abraham Maslow on needs of Hierarchy.
oo SrRE eSHTe (ELRHNS (387
SECTION-B
(Essay Answer Type ) (5x12=60 Marks)
Answer the following questions in not exceeding 90 lines each
& Bod o) BHoH TGRS JEegrdtnen (Teainsin.
6) a) Explain meaning and importance of public Administration.
(53858 FoOT BN @gcﬁ}], i_?ﬂ&i\:&:éééa DEBOE.
(OR)
b) Explain relationship between Public Administration Law and psychology.
Behds Fom w(Hos — THEHTEERE, S8 T8 yie Sonorredh Bodin.

—

19,1

7) (a) Explain the importance of Kautilya & Administration.
Fodp SR (DeaiooggB DHB oI,
(OR)
b) Explain the classical approach of Luthar Gullick and Lyndall Urwick.
Evel Vil oveis] ;”ocgoé 3{3;6_26 — orRbKds — Dowd GO ff)e)éo)m&)& DSBoKHFm.

8) a) Explain the views of Maxweber Bureaucratic approach.
SrEyRab aa'n gy HHTRY, DHBOHS®.
(OR)
b) Explain the views of F.W/.Taylor on scientific management principles.
FIW. Sob g a@sn Qogiten oegee DHBOFHE.

9) (a) Evaluate the contribution of Elton Mayo to Human relations approach.
EPES HoRoGre GRS — IPS D& ©0B0DD Do BenHRm.
(OR)
b) Discuss the MC Gregor on X and Y theories.
&i5n E ONG @) X @o%), Y oo BoyoEw.

10) (a) Explain the views of Simon on decision making.
258 DPowddes MOS0 DHB .
(CR)
b) Write an essay on F.\W. Riggs Ecological — Approach.
F.W. 85 Sres @bt drpodsn 3 amgesn (Eeainss.
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FACULTY OF SOCIAL SCIENCES
B.A. I-Year I-SEMESTER (CBCS) Backlog Examinations, May-2018.
History (Paper-1)
(History of India From Earliest Times to 700 CE)

Time: 3 Hours Max Marks: 80
SECTION-A
(Short Answer Type)
Answer All Questions 5X4 =20
1. Inscriptions.
BEOTLD.
2. GCreat bath.
FSEATTATS TOE.
3. Bimbisaara.
Do,
4. Gandhara Art.
rogrd 3o
5. Hiuentsang.
SroaseRemyon.

SECTION-B
(Essay Answer Type)
Answer the questions 5X12 =60
6. a) Discuss the relationship between history and social sciences.
SBEB, ads Fira FFrod HEyte DoogE 58)05Y.
OR
b) Explain the influence of geographical conditions on Indian History.
. rBEBE SBBP FHYE SO (Herari DHBOHR.

7. a) Examine the Harappa Culture.
FB) B0 8 580N,

OR
b) Explain the early vedic civilization.
038 S1eVo) TRBEEH DHBoDIW.

8. a) Give an account of life and teachings of Gouthama Budha.
TEmepd 408 Diare, @3 Sh55en BOSHEHE.

OR
b) Explain the principles and contribution of Jainism to Indian Culture.
BI08 ?om;o@"’e)éa BenHEr, ©d FrESRY oy )88 328 25 DHBoHIW.

9. a) Explain the salient features of Mauryan Administration.
5o DOTFOR S0P oftrod DH00YLD.

OR
b) Discuss the cultural contribution of Satavahanas.
PSSR0 o, E)@é 25 $G o).

10. a) Describe the golden age of Cuptas.
e BBasnre) $ohie.
OR

b) Explain the greatness of Harsha.
B’J"Eﬂaq@ P BETRY, BB,



Time : 3 Hours]

Code : 4022
FACULTY OF COMMERCE

B.Com. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018

MANAGERIAL ECONOMICS
[Max. Marks : 80
Part A — (5 x 4 = 20 Marks)

(Short Answer Type)

(8y0y wararis (%e0)
Answer all the following questions:
e (G00 PRpD SIrTTTTed FraDod:
1. Managerial economics. *

DI Tren eE 0.
2. Delphi method.*

Boi: oo

GOy -.ocga
3. Oligopoly.

LoD Ao,
4. Business Cycles.

:j"ﬁ“cf HiEres.
5. Monetary Policyd

@'65 Z\JQ“‘:S:;:O

Part B — (5 x 12 = 60 Marks)
(Essay Answer Type)
(gt BTGP o)
Answer all the following questions:
&2 (B0b DEwS SIS raod:
6. (a) Explain the nature and scope of Managerial Economics.
DSgeren LoEge Bk, Hiprdo Sodct $OAD DEdoBod.
Or do
(b) Discuss theole of managerial economist in business.

6 0y e \ - Y
Tyrocd” A st o, FED Sopoticd.

[P.T.0.

| 6o ue Souononk

(b)

8. (a)
(b)
9. (a)
(b)
10. (a)
(b)

2 Code : 4022

What is Demand Forecasting? Explain significance of Demand
Forecasting.

&0l oS GITaNs? Aired wodTr PNt Dok

or &or
State the advantages of short-term and long-term Demand Forecasting.
S50y 500010 HEE DS GiT0S Vol (I, PAFETUR Seood.
State the characteristics of Monopoly market.
DEdrgioge 2Ty efFTod Bodod.

Oor &or

Explain how the price is determined in perfectly competitive market in
short period, with the help of diagram.

Soyeod® BoRgded 570,e5E" (U AGAiTa, B sabod’ dNbobod.
Explain methods of computation of National Income.
2 BOD esTro Sofiowy BEHes OO
Or &or
Explain causes of business cycles.
IR it ST DBoTOck.
Explain the instruments of Fiscal policy.
8% DS rSres DSbotiod.
Or &

State the objectives of Monetary policy.
(&85 DG Fyuiress Basiod.
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Code : 4032

FACULTY OF CCMMERCE

B.Co'm. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018

PRINCIPLES OF MANAGEMENT

Part A — (5 x 4 = 20 Marks)
{Short Answer Type}
(e SSTEE @)

Answer all the questions: v

@) FEes: SRrrate @ Qooc :

1. Explain Functional Foremanship.

I L Ty
Fogsd FPOT00bains dLbotod,

2. What is Strategic Plan?

gj“\b.. s q ;.)E"'q,’s EDRe T RN

3. Define the terms "Centralisation and Decentralisation”.

Zoibsses, DHodiveeis Sgydoted.

4. Explain the organisational Types.

o O éEh‘CC";.

5. Define the term Coordination.

Part B — (5 x 12 = 80 Marks)

(Essay Answer Type)
(Trgoams Sarei )

Answer all 1he questions:

0 IANTTSS0S Ot

Define the scientific management and what are the principles of scientific

management.

B AR S e 5 e
Foals DOereaais weled, Braady A0IFE |
: S f)

Or dor

Vihat are the differences between Management and Administration?

[P.T.O

[Max. Marks : 80

2 Code : 4032

7. {a) Define plannmg and explain the role of planning in the organisation.

R
f CRooE,, gIENS el Sok.

Or &
(b) Planning is a process. Explain it.
Zrich oiEd oF Eiah. D5bosod.
8. (a) Explain the different types of organisation.
Sind 52 Dy Ssress Buy . '
Or &

(b) Describe about span of Management and what factors influencing span
of supervision in the organisation.

s ‘.\ a R

Gren BSOSl A30oNed, £7 HOSTLIN0NS
os

LM,TQ.,WW 25 srdsren D037

9. (a) Whatis delegation of authority? Explain its principles.

24
S5 S TR0 7 905 Doy, SrErei Bood.
Or &

(b) Whatare the pre—requisites for Delegation of Authority in the organisation?

e Leh -
DS esniTRed Boogrge Ty J0tS” Seyos?
' 2

10. What is Coordmat\on? Explain the methods!techmques of coordination.

(b) Exlain the reqwrements for effective contral in the organisation.

2 vy Heolodicésl wllied YoTu
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FACULTY OF COMMERCE
B.Com.(Computers) | Year Il Sem (CBCS) Regular Examinations, May- 2018.
Management Information Systems

o+ CODE NO: 4042/8

Time: 3 Hours Max Marks: 80

Part- A (5x4 = 20M)
(short Answer type)
| Answer all the following questions.

1. Levels of Management.

5 Fundamentals of Information System.
3. Business system planning.

4. Internet Vs Intranet.

5

. What is CRM? ‘
Part — B (5x12= 60M)
(Essay Answer type) T
11 Answer all the questions .
6.a) Explain the structure of MIS.
(OR)

b) Write the differences between MIS & DSS

7.(a) Explain different types of Information Systems.
(OR)
(b) Describe the sequence of development of IS

8.a) Explain the characteristics of control process.
(OR)
b) Discuss the Importance of Business System Planning.

9.a) What is E-Commerce? State the advantages of E-Commerce.
(OR)
b) Discuss how Information System is useful for strategic advantage.

10. a) What is System Development Life Cycle? Explain.
(OR)
b) Explain in detail about ERP.



Code: 4032
FACULTY OF COMMERCE

B.Com. (I Year) Il Semester (CBCS) Regular Examinations, March/April 2018

Time : 3 Hours]

PRINCIPLES OF MANAGEMENT
[Max. Marks : 80

Part A - (5 x 4 = 20 Marks)
(Short Answer Type)

L s TR o
(u\u\ P ari] n..f'c‘.\..«))
- - (=S

I.  Answer all the questions:

) EEEs PITERELY mrotod:

1

Explain Functional Foremanship.

0558 PERSVTIs Inboned.

What is Strategic Plan?

;féﬁiﬁéﬁ fislaeyl et SBTEI?

Define the terms "Centralisation and Decentralisation”.
o b6es, DdodEsmvis SEloded.

Explain the organisational Types.

S euf'ﬁ Sxod Beyod.

Define the term Coordination.

Sossoi B SSrlotiod.

Part B — (5 x 12 = 60 Marks)
(Essay Answer Type)

(Zrgdmy wEres FEe)
9y

Il Answer all the questions:

@y EEOR BITC e RN

6.

{a) Define the scientific management and what are the principles of scientific
management.

B ooy et Ol Sy apeby oo B
Fo0%s DSareans ey, Taok AL
2 : A

Or do

{b) What are the differences between Management anc Administration?

3

[PT.O.

10.

(a)

(a)

(b)

(a)

2 Code : 4032

Define planning and explain the role of planning in the crganisation.

Soiofise DEDeD, nopd” ol Clol, Grdesss DxbsSed.

Or o

Planning is a process. Explain it.

e W1 E & 2 iR s V- L
3eyaf odsnd ¥ dod. Dbedod.

Explain the different types of organisation.
55::-225:‘.’) 22¢8 ol Buyodd.
or &
Describe about span of Management and what factors influencing span
of supervision in the organisation.
N SOSTEBwse DS0oted, Si0aks nopd SEHTE BOSTTNoR
SErdEse THh SUsT 237
What is delegation of authority? Explain its principles.

WO SIS GHTHN UdF0 GES Gl SrETei Bovodh,
Or &
What are the pre-requisites for Delegation of Authority in the organisation?

A i TR e A S v s e oy U B R R
Hond” efT0 GES JoES SIRIT BogTETe DRy Seyoc?

What is Coordination? Explain the methods/techniques of coordination.
RacihRay et Wakgols BQE TG JsEoned.
Or &€

Exlain the requirements for effective control in the organisation.

STRO EErRSosdn Cubo@ed: wlws Seofodeesss alRIad YoTO0
Bovols.
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CODE NO: 2041
FACULTY OF SOCIAL SCIENCES
B.A. I-Year I-SEMESTER (CBCS) Backlog/lmp Examinations, May-2018.

Economics
Micro Economics
(Paper-1)
Time: 3 Hours Max Marks: 80
SECTION-A
(Short Answer Type)
Answer All Questions 5X4 =20

1. Define Micro-Macro Economics.

g~ @gw@ém:é: QsDosol.
2. Write about budget line.

mges B 1bod (Frahod.
3. What is Production Function?

4B oo ©drE?
4. What is Price Discrimination?

58 DiSEes edHrE?
5. \What is selling costs?

EEV L) E.’:édiren woll HH?

SECTION-B
(Essay Answer Type)
5X12 =60

Answer the questions
6. a) What is Elasticity of Demand? Explain the kinds of price elasticity of demand.
Bswol amEbisdo eSmTID? 8 Sirol gshisdie Ssred DEbosal.
OR
b) Critically examine the Rabin's scarcity definition of economics.
oAy EEE Do ATedEsore sedDoSol.

7. a) Explain the law of diminishing marginal utility theory.
igPirod (Hered Brpodind DEtoHod.
OR
b) Explain the consumer equilibrium with the help of indifference curve.
DABRHTEHR DB L0 aoise a‘sté'aaw AShcho8t DEBoBd.

8. a) Explain the law of variable properties.
Sordoied Je|@snd DStosod.
OR
b) Define and explain the types of internal and external economies.
wo$BE HHBakn wirgd ool Do T8 Serod DHBoSE.
y
9. a) What is Market? Explain the characteristics of perfect competition markety/
Sr TS witrrdD? Horg SOy efEre DHBOSOE. 7
OR
b) Explain the firm and industry equilibrium in the short period under perfect

competition.
s0imS DBEE HoyTrecs® Doy Hedk HOFD SHTFY DBBobed.

10. a) Explain the price determination under monopolistic competition.
D8I 8 S5t SEGAH Dy HBBoHol.
OR
b) What is Oligopoly? Explain the price rigidity under oligopoly.
HOEyHog0 oEreS? éB&d:&Dﬁé}soé‘ fte] cSe)n‘f,msm‘g_ DHBoS8.
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(b) Verify the following data Index numbers are correct according to Marshal
Edgeworth method:

1994 1995
Goods Price Quantity Price Quantity
A 3 80 4 75
B 6 130 5 145
c 8 145 7 40
& 2o Sono D dopgps 3PS IGIG hajodo Esde s50anS =5
adobiotod:
1994 1995
S GO HOA85e0 &8 HESTe0
A 3 80 4 75
B 6 130 5 145
c 8 145 7 40

8. (a) Define Time Series. What are the utilities of time series?

sofeuod Mgdod, o) EEFETOD DsboBadw.
Or o
(b) The production particulars of a Sugar factorty are given below. Calculate
trend value based on Least Square method with Straight Line trend:
Year 1959 1980 1961 1962 1963 1964 1965
Production 65 70 74 79 85 86 83
2 ol BEmoFss 1Y SolES SoyTERNSL: NorododI0. Bk Dexsisd
5 Sore $GHST $56¥ B BRHED Horruod SRfEMS:
Soldyto 1959 1960 1961 1962 1963 1964 1965
GG 65 70 74 79 85 86 83

[P.TO.

9. (a)

(b)

10. (a)

(b)

4 Code : 4034

If a coin has tossed itindicates a head at that ime. Two balls are drawn from
Atub, if not two balls are drawn from the B tub. Intub A3 black and 5 white
balls are existing and in tub B 7 black and one white balls are existing. If a
ball was drawn from the tub and depositin the tub and if two drawned balls
are black what is the probability to A tub. Calculate.

o8 o Jro6 35 b Sy irDh A AR S0 Toth soload Babucoras.
B0 B A 00 Both motioen Sabeio adbitexcd. A ARS" 3 5%, 53R
nodoe, B f\?:‘leﬁg 7 S0, n8 LK) 208, 208D &b Side 1“43&&'56
Seung aod) BLY woied JoGT SR8 A A3) exdrfioladiodsss
Sogrsgi S ok,

Ordoe
Explain the probability theorems Basic concepts.
Sogrhgd ?aa;oésc SaTD BRRPOn0 DRTOTOSM.

Explain the features of Normal Distribution.
U Dgrexie G, OFFTOl D5boSos.
Orédo

1,000 bulbs of 100 days standard of living were fitted in a factory. Its living
quantity is 20 days serial deviation of Normal Distribution. Determine the
(i) number of bulbs expire within 90 days and (i) All the bulbs are changed at
the same time, before change less than 10% bulbs are expired, what is the
gap is allowed to determine?

100 Eese e 5555 gSveso o 1,000 pegeid 8 RS SoyTEedT eReETS.

d
e 55 5850 20 Eeve (5550 DS DS o TGS reriy eiioitiyed.
(i) 90 Tazo By 85,5 Feved 5rbifre wome dog, (i) onedeed) I seod
HEyHBN Bgoose BrEETIS so0d 10% Sy Jtin i saansond Sopg wayws

DAL S8y S 5 SrEEsD ectoren eiBaBel 53y Ddonccticd.
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FACULTY OF COMMERCE
B.Com. (Il Year) IV Semester (CBCS) Regular Examinations, March/April 2018
BUSINESS STATISTICS - 11
Paper Il
Time : 3 Hours] [Max. Marks : 80
Part A — (5 = 4 = 20 Marks)
. Answer all the questions:
51 500 R R HEATFEEtes Eroiod:
14 Importance of Regression.

ISR ooty Wiy,

24 The following data is given below :

Y
30 80
Standard Deviation 10 6

Arithmetic Mean

Correlation coefficient between X and Y is 0.65.
{a) Calculate X onY equation and if ¥ =50 find X value.
2.3 SeroEinda P 3ol 9GS0 !

B XY
€08 Dodiiasions 30 80
Eracneds Duedsw 10 6

X 556010 Y Diferre St Sencts M 0.65 sawis X 28 Y 8356
FrOoTase. 28 39 Y = 50 erand X DeniSis 5SafTisno.

3, Explain limitations of Index Numbers.
5D oy 20RoSoRs Ddotn.

4./ Method of least squares.
EUASTe S

5. Whatis the probability to numbers 9 or 10 occurred when two dice are thrown?
Bedo FOSoins FPoDTHEs & Hope Sl 9 dor 10 HSogmoiicety s e
Fotamr DoprRghss $R08 08,

U

[PTO.

2 Code : 4034

Part - B — (5 x 12 = 60 Marks)
I Answer all the questions:
&2 (308 ey BERED SSITT Eranod:
6. (a) From the following data calculate two Regression equations:
X 3 5 8 12 13 13 14 14
6 8 12 10 12 14 20 14
08 GaroEEnRood ot (EHNSD BESeTes ot
5 8 12 13 13 14 14
8 12 10 12 14 20 14

Ordo

(b) From the following data calculate two Regression equations:
Husband'sage : 19 18 21 20 23 22 25 24 27
Wife’s age - 18 18 17 17 19 20 19 19 22

Find correlafion between husband and wife.

s Bob SEreise: S0 o HENES HEdTe S aal:
PGw HaBy © 19 18 21 20 23 22 25 24 27
O Sdbay o 18 18 17 17 19 20 19 19 22

00ci0 groTy S5 336 SRoRoETl ¥ SRTe63e800.

7. (a) From the following data calculate Fischer Ideal Index:

Goods A B C D E

P,(Rs.) 10 12 16 18 14
Total cost (Rs.) 1,000 600 480 840 720
P, (Rs.) 12 20 18 20 15

Total cost (Rs.) 960 2,400 900 800 1,050

- - 2 .t - 2 B o T
35 30O 580850 G0l b ety $7Y Moyl SRS

S9000 A B & D E
P, (&) 10 12 16 18 14
Amdodgoho () 1,000 600 480 840 720
P, (&) 12 20 18 20 15

Boso Sgawo (Tor) 960 2,400 900 800 1,050

Or 8o

26
21

26
21
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FACULTY OF COMMERCE
B.Com. (Il Year) IV Semester (CBCS) Regular Examinations, March/April 2018
BUSINESS STATISTICS -1l
Paper Il
Time : 3 Hours] [Max. Marks : 80
Part A — (5 x4 =20 Marks)
| Answer all the questions:
Fe S0 Ly FHEE HETErEtes Fobod:
14 Importance of Regression.

St Gy, Ryt

24 The following data is given below :

¥
30 80
Standard Deviation 10 6

Arithmetic Mean

Correlation coefficient between X and Y is 0.65.

(a) Calculate XonY equation and if Y = 50 find X value.
0% BEoiins 8 3ot aSmiso

X ¥

30 80

graceds Doessn 10 8

X S0t Y Disemre Sl Mriscecd Messn 0.65 eauid X D0 Y S0N0ETR)

Frhotoss. o5 3F Y = 50 220008 X DennsSisa BHof 8000,

3, Explain limitations of Index Numbers.
$rh Sopg BODHwD DBTo.
8. Method of least squares.
EDRSore 585,
[x) [a} [+

5. \Whatis the probability to numbers 9 or 10 occurred when two dice are thrown?
Boths DSes: EYolEEHE: & vopp Sodtn 9 doe 10 Hogiosutss se

St oLy SRE o8,

[P.T.O.

2 code : 4034

Part - B — (5 = 12 = 60 Marks)
I.  Answer all the questions:
&o 30D @) FEpE BRI Eraiecs:
6. (a) From the following data calculate two Regression equations:
X 3 8 8 12 13 13 14 14
Y 6 8 12 10 12 14 20 14
o B0 SEoEsDed Sot iGN ShosBereds oot
X 3 5 8 12 13 13 14 14
Yy 6 8 12 10 12 14 20 14

Ordor

(b) From the following data calculate two Regression equations:
Husband'sage : 19 18 21 20 23 22 25 24 27
Wife's age - 18 18 17 17 19 20 19 19 22

Find correlafion between husband and wife.

e Bob Barci Sool Bots IS HEGETeR S doo:
PG JakRDn - 19 18 21 20 23 22 25 24 27
op sabisey 18 18 17 17 18 20 19 19 22

SoBai 5Pty §150 305 Sardozogrily TR HoSa.

7. (a) Fromthe following data calculate Fischer Ideal Index:

Goods A B C D E

P,(Rs.) 10 12 16 18 14
Total cost(Rs.) 1,000 600 480 840 720
P,(Rs.) 12 20 18 20 15

Total cost (Rs.) 960 2,400 900 800 1,050

1 300 SErosn oD pb estity SrD oyl SR Gos:

Sgee A B g D E

P, (&7) 10 12 16 18 14
Foso foo (6) 1,000 600 480 840 720
P, (&) 12 20 18 20 15

Boodo g0 (87°) 960 2,400 900 800 1,050

Or o

26
21

26
21
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(b) Verify the following data Index numbers are comrect according to Marshal 9. (a) !facoinhastosseditindicates a head at that time. Two balls are drawn from
Atub, if not two balls are drawn from the B tub. In tub A 3 black and 5 white

B balls are existing and in tub B 7 black and one white balls are existing. If a
1994 1995 ball was drawn from the tub and depositin the tub and if two drawned balls

are black what is the probability to Atub. Calculate.
Goods Price Quantty  Price Quantiy o0 OO 3h b Fiingio Srnh A 1S Sood Both peties Sabetorow.
A 3 80 4 75 B0 B AR 004 Bote: moiions Babee adrtaucd. A A3 30, 5 ae,i
wotioes, B AE 7 Sub, o5 8o od. alpspth 1ol &2 Ssde AD
? o ia ° 145 Ao dod b wosoey Dol Jo038 A A3 axarfoladsots:

c 8 145 7 40 Y Sorrag Shofdad.

5 3O Sorod prd Hoggos 3rgd 538 bopodo Esde B oS 5 Oréce
BHBchod: (b) Explain the probability theorems Basic concepts.
Sogrigh DOToss ST araSeso Dbouadn.

1994 1995
Shohey B H0ETe0 B8 HESTe0 10. (a) Explain the features of Normal Distribution.
2 3 80 4 i T Deresste Lo, oo DSboiod.
Ordor
B 6 130 5 145 5 -
(b) 1,000 bulbs of 100 days standard of living were fitted in a factory. Its living
c 8 145 7 40 quantity is 20 days serial deviation of Normal Distribution. Determine the
(i) number of bulbs expire within 90 days and (i) All the bulbs are changed at
8. (a) Define Time Series. What are the utilities of time series? the same time, before change less than 10% bulbs are expired, whatis the

gap is allowed to determine?
SRl DCSBOS' R R AN 100 Sewe 50 2355 esrese o 1 ,000 evopyoi X SIS %u"&:é“ IShVejrvess
Oré&er e 55 850 20 B 155> Dised e o TGS el elosoRged.
(i) 90 Baro oy &85, Blerod” 20 woge Sowy, (i) BegEotdd JIseod
HTOySBER Dgoosd SryEaS fsold 10% Sy 25 Sti0oe) Sepss woges

DA BT Sty D STEY woBereio esaseBes 58 Dgoscticd.

(b) The production particulars of a Sugar factorty are given below. Calculate
trend value based on Least Square method with Straight Line trend:

Year 1959 1960 1961 1962 1963 1964 1965
Production 65 70 74 79 85 36 83

[

: 208 STrosie o5 Solmry SUyTEInNGE: Hoaoholso. @58 desSd

H0R Spe ReHE’ H5¢ B (G0 Soarlod BHsfEaN:

HodS o 1959 1960 1961 1962 1963 1964 1965 .
Gy 85 70 74 79 85 86 83

[P.T.O.



Variable | Frequency
Soed | Bres iy
0-10 12
10-20 16
20-30 26
3040 38
50-60 15
60-70 7
70-80 4

10.a) Explain the methods of studying Correlation.

Steononrd) B8l S 8oyl
(OR) .

) Calculate Spearman’s rank correlation from the following data.
&808 BErodHnd uhiHS oo’ sfednS 88l

Price of share (Rs.) | Price of debenture (Rs.)
e G0 (B.) B0 &8 (&r.)
75 120
88 134
95 150
70 1ns
60 10
80 140
81 142
50 100

\0Y)
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CODE NO: 4033

EACULTY OF COMMERCE
B.Com Il Year lll Sem (CBCS) Backlog Examinations, May- 2018.
Paper — 111
Sub: BUSINESS STATISTICS
Time: 3 Hours Max Marks: 80
Part- A 5x4 = 20m

\/(nswer all the following questions. (% (308 (SHERIEES e (Fchol)
1™ Define Statistics.
Herodwdsnd &)653050&.

@ What are the general rules for construction of Diagrams?
DESHere Xlo'geaﬂbﬁ ©HNBoT R Tl Dchdmen D8é?

3. Mean of 100 observations is found to be 40. If at the time of computation, two items
are wrongly taken as 30 and 27 instead of 3 and 72. Find correct mean.
100 wozre @oé:ﬁxﬁ;;ﬁ)a’m 40, s*Q & @oéa’:acﬁééaa’mé) Eé&oﬁa@tﬁ: Both

Denden 3 DHEGED T2 $OFH DendoH mdenre 30 Hbuko 27 S Devden
BraS RS0, SOES eopisnh B8oKol.

" Find out the value of quartile deviation and its coefficient from the following data.
Bro% Barodsn Hol Hthopod DSossn Db TO Hresed) Bl

oll No.
&S 3o, 1 2 3 4 | 5
Marks - T
Svtieo 10| 14|20 61|15

5. Define Correlation and explain the different types of correlation.
BIrHootsRnd méﬁﬁoéo& SoB35n DG Ssre SSEHonoEEDeD Boyol.

Part - B 5x 12= 60m
Answer all the questions .( & (8o (BHoNoB DargrRio |Fraod).
6.a) What is Primary Data? Explain the methods of collecting primary data.
(Fr0E SEodin @Smran? (2REE Saroad) HEBod SgHod Seob.
(OR)
b) What is Sampling? Explain the merits and demerits of sampling.
BBSEHDED GRTID? [BBSTG B o SapeD 3oold.  Cond..2

v

@a) What is Bar Diagram? Explain the v.a..rious types of bar diagrams.
6 DD @ITAR? DV Gsvo erb DdHLre eyl
(OR)
(b) Present the following data by instagram.
Sy Bob Seroding TSl Agedol.

Marks:
St

No. of -
students 8 12 22 35 40 52 40
3)1:?563&13 ¥ x N N LN " _

g'a) Define Average and what are the requisites of a good average.
Hifeoids AGDoSos o Hod Bifen Qo) eddsreo E?
(OR)
b) Calculate the median for the following frequency distribution.
BihD sy rea: Dy Deradindd Hegigind 6%&050&.

0-5 5:10‘10—15 15-20 | 20-26 25—30\30—35 35-40

Marks | No. of students

Imtfo&w .‘{Jcr"érjaao Sogyg
| 45-50 10
40-45 15
35-40 26
30-35 30
25-30 42
20-25 31
15-20 24
10415 15
5-10_ 7

9.a) What is Dispersion? Explain the objectives and properties of dispersion.
D550 OBrID? VB By eFees HOAD oo Sk

(OR} T
b) Calculate coefficient of skewness based on quartiles and median from the
following data (Bowley's coefficient of skewness).

SilBod Bmodini, ooy HBAD Hifidsn 508 eprEBds 3y
s BFoiol.



CODE NO: 4033
FACULTY OF COMMERCE
B.Com I Year 1ll Sem (CBCS) Backlog Examinations, May- 2018.
Paper — 1l
Sub: BUSINESS STATISTICS
Time: 3 Hours Max Marks: 80
Part- A 5x4 = 20m

fnswer all the following questions. (& (Bob HHoEHE Shrerhsn |ecsol)

Define Statistics.
Heroder|gEnd Dosod.

@ What are the general rules for construction of Diagrams?
DESHEre Joyerds eiBooTh)d Fgrdes Dabhiren HE?

3. Mean of 100 observations is found to be 40. If at the time of computation, two items
are wrongly taken as 30 and 27 instead of 3 and 72. Find correct mean.
100 womee wodihiin 40. 5°9 & 0B E%&oééa?’.qnda Both

Deodes 3 %8Gk 72 KOS DedeH wrbeor 30 b 27 S DendHen
BSoESHES0. BOES wosHghsns BEpodol.

\ Find out the value of quartile deviation and its coefficient from the following data.
&tod Garodsin ol rﬁcﬁ)cgo«a' DSodin HHoakn ol Hrsed) 8ol

“Roll No.
G5 Jo.

Marks
ézvd)&e.u 1014|206 |15 7|25

1 2 3 4| 5|67

5. Define Correlation and explain the different types of correlation.
Hedonotdsnd 3652)050& SBcEn DD Bore BIPRHOBOLEDORD 8enoll.

Part— B 5x 12= 60m
Answer all the questions .{ & (8o (BHOYPOHE Hirerisn (gradol).
6.a) What is Primary Data? Explain the methods of collecting primary data.
(DS Barodsn eSrR? (G SemowR %ol sgded duol.
(OR)
b) What is Sampling? Explain the merits and demerits of sampling.
(5B SADBED ©FTID? BHBILTTD FoY) oS deod. Contd.....2

v

@a) What is Bar Diagram? Explain the v.a'rio.l..ls types of bar diagrams.
&8 DFSLED odrIin? DG s &b DEHErod Beyol.
(OR)
(b) Present the following data by instagram.
8ol Borodnod e JBjtel.

Marks: . . i
é}“d)&t}o 0-5 | 5-10 10-15 | 15-20 | 20-25 25-30 30—35135—4(;‘

No. of
students 8 12 22 35 40 60 52 40
;)G‘Ségw ~ LY X ~ | Y S \ ‘7 ]

8'a) Define Average and what are the requisites of a good average.
Hefenid Aghosod HBdhn Fod Si5en g eddisrey 2087
(OR)
b) Calculate the median for the following frequency distribution.
&% adyd Pee: DI Derasdindh ;’Jadggr‘ﬁe‘ia"min 6§pﬁo&.

Marks | No. of students

smtyen | OUFEO 0%
| 45.50 10
40-45 15
35-40 26
30-35 30
25-30 42
20725 31
15-20 24
10415 15
5-10_ 7

9.a) What is Dispersion? Explain the objectives and properties of dispersion.
D wHPID? DY DY) eFTged HoaA oo Beol.

(OR)
b) Calculate coefficient of skewness based on quartiles and median from the
following data (Bowley’s coefficient of skewness).

&aBob (55_';061)33&35)_ x‘ﬁé}D;OIB"U SoBaso ;’D(ﬁéﬁééﬁn 5t erddis E%;’).)s
s aég,oaﬁod.

Contd.....3



Variable | Frequency
SETed TPea 3
0-10 12
10-20 16
20-30 26
30-40 38
50-60 15
60-70 7
70-80 4

10.a) Explain the methads of studying Correlation.

SrSonogrd) Béaoé SEed 8008,
(OR) .

) Calculate Spearman’s rank correlation from the following data.
SiBob Barodind BabES ool $°eBAS B8josol.

Price of share (Rs.) | Price of debenture (Rs.)
Teer 58 (B.) &ToSB &8 (Be.)
75 120
88 134
95 150
70 15
60 110
80 140
81 142
50 100

\0Y)



9. (a)

(b)

10. (a)

(b)

1. (a)

2 Code : 40202

PART B - (Marks: 5 x 10 = 50)
Answer the following in not more than 4 pages.
53300 D8 4 Hefew QoTHOGET SIPEHED @roKod.

Explain fhe nature and scope of Statistics.

ﬁwogﬁ"’@ RggTa3ssa0 0B HOHA DSBoSod.

Or/8ee
What is a graph ? Explain different types of graphs.
(™D @083 DRI ? DAL S5 (PO D3Bosed.

If Mean is 15.38 find the missing frequency from the following data:
82 (S0 BTo¥ 300k, Go¥ Sogion 15.38 BoNST SyAP0ws FEEDSE0S
ESoR sS0asa0:

Quantity: 10 12 14 16 18 20

03726300

Frequency: 3 7 ? 20 8 5
‘ Or/dor

From the following data calculate Median, lowar and upper Quartiles.
&s 808 SemoFsn S0 BG5S, B SoBAk0 s DETOFI0O 88,0006,

Size ; 10 20 30 40 50 60 70 80
Sed

Frequency : 7 12 17 2 31 21 18 5
DB |

From the following data calculate €tandard Deviation.
&2 (§00 SEo¥ain Mool @rErell Dot 88,080k.

Marks in No. of
Statistics Students ,
Kewo¥ gos’ AT
SFEe0 Sops
0-10 5
10-20 7 _
20-30 14 #
30-40 12
40-50 9
50-60 6 ’
60-70 2




Code : 40202
FACULTY OF COMMERCE

B.Com. (Il Year) Examination, October/November 2017
BUSINESS STATISTICS

Time: 3 Hours] [Max. Marks : 70

PART A - (Marks : 5 x 4 = 20)
Answer any five of the following.
&s Sod eI H VORI SIFE 0 @Kol
Define Statistics. - :
Hwogﬁr"g*’.‘(b NYsDosod.
What is tabulation of data?
S&20¥ 3638565 wosS D39
Find the harmonic mean from the following data:
Eod Seroto dod P OB0GI5505050 ESoRT%o500,
2574 475 5 0.8 0.08 0.005 0.0009
From the following information find the value of Standard Deviation:
Karl Pearson’s coefficient of Skewness = 0.8. Arithmetic Mean = 30 and Mode = 24
&z 800 BIrT 60 S00d Desiredy DBOBZN D0, 0 A0S S
FoEESn = 0.8, esoy 2063530850 = 30 328050 EPTOTESL = 24 |
Find out Bowley’s coefficient of Skewness from the following data:
& HIOS Seroto Kood oS 205 108 NeasBanod. Baocses DETOEID = 14 Saeess
SEFEI0 = 25 Sogsgiesn = 18,
- Qi =14,Q;=25 M=18

Calculate Quartile Deviation and its coefficient.
DETOF DIoSS0 8ok o) MOEEB0 88,0504,

Q; =26.07 and Q, =47.49

Qy = 26.07 558050 Q, =47.49

If Regression coefficient of x on y=0847andyon x = 0.732 find coefficient of

correlation.

Y @ X B0o%, 3850 Mosaisas = 0,847 0000 X D Y oo, (SN MoeakSas = 0.732

BORSS’ BiH500065 KHoeatsonds SR 0530,

Find the chain index numbers on the basis of base year:

5 (808 SEmodsn K008 esoets ROIEYIS0 SO Fevss 858 RoPsoi KSofmaos:
Year/:éose:gadm 2002 2003 2004 2005 2006
Sales/@m&ym 80 90 100 90 70

Base year 2004.

SE S0 550 2004, —



Code : 40202 |
FACULTY OF COMMERCE

B.Com. (Il Year) Examination, October/November 2017
BUSINESS STATISTICS

Time:3 Hours] [Max. Marks : 70

PARTA - (Marks : 5 x 4 = 20)
Answer any five of the following.
&5 E0d T3S H WO S50 Eraod,
Define Statistics. : :
HeoSTgeRy AsxDoSod.
What is tabulation of data?
g% 3e38xe5er esods HAeso
Find the harmonic mean from the following data:
Eod Serodo od ST TB0G5550800850 ESoRT S50,
2574 475 5 0.8 0.08 0.005 0.0009
From the following information find the value of Standard Deviation:
Karl Pearson’s coefficient of Skewness = 0.8. Arithmetic Mean = 30 and Mode =24
& 300 SSrTE50 $o0d Dexireds OIS0 Eof50d, G A0S Bt
S = 0.8, wo¥ .;13q55;1>m = 30 308050 PTUTES =24 .

SEEOEID = 25 S = 18,
' Q1=14,Q;=25 M=13
Calculate Quartile Deviation and its coefficient,
DETOY DS HH8a%n o9 ROEEI0SD 88 o50a,
Qq =26.07 and Q; =47.49

Q; = 26.07 360 Q, = 47.49

If Regression coefficient of x on y=0847 and y on x = 0.732 find coefficient of
correlation.

Y 2 X GBo%, (58 Kosakso = 0.847 SO0 X Dy Wt (BSSMNS Koertsssas = 0.732

BOSS SH5080¢ KomESns SR S0,

Find the chain index numbers on the basis of base year:

8§08 GSemowin Kood escres RDOIETIN esGTSomr Fevss 59 Soggod EHRHo50:
Year/sossy s 2002 2003 2004 2005 2006
Sales/esyses 80 90 100 90 70

Base year 2004,

[STaile} P05 G5 2004. [PTO.



9. (a)

(b)

10. (a)

(b)

1. (a)

2 T Codé : 40202

PART B - (Marks: 5 x 10 = 50)
- Answer the following in not more than 4 pages.
53300 3708 4 Hefen QoSHOG® HEFTSED @roNed.

Explain fhe nature and scope of Statistics.
ReroSE=g Sgerssn Sodaly SB5 ISbosod.

Or/dor

What is a graph ? Explain different types of graphs.
(™ @063 DAxI? G S50 TrHesd IS0oSed.

If Mean is 15.38 find the missing frequency from the following data:
& (300 GEpodsn Mook, Go¥ B¢ 15.38 @003S S0 8B
ESof sdosdo0:

Quantity: 10 12 14 16 18 20
DOS3TE300 _ :
Frequency: 3 7 R 20 8 5
SeBg00

| Orl/der

From the following data calculate Median, lowar and upper Quartiles.
s (800 CSET0ES0 00k SoEIESD, BIHS SO IS SBITOTIVOD 88,0508,

Size : 10 20 30 40 50 60 70 80
Sod

Frequency : 7 12 17 729 31 21 18 5
i8I0

From the following data calculate Standard Deviation.
8 (800 SErodsin ood @rSTEdY Disonsosd 88,ou0d.

Marks in No. of
Statistics Studenrts ,
Hewo¥ 7°308° Do
STE,e0 o
0-10 5
10-20 7
20-30 14 /
30-40 12
40-50 9
50-60 6 ’
60-70 2

Or/doe

-



Bots 2.5 S0 Y, 503585 ergres gD

Year . 2008 2007 2008 2009 2010 2011 2012
oSy

Profits

(Rs 000) 60 72 75 65 80 85 95
&g (&.000)

Group Index Expenditure
(05) S50 30G§, Py

1. Food 550 46%
IS5

2. Clothing 215 10%
Y

3. Fuel & Lighting . 220 7%
FOEI50 o805 Sedoh

4. House rent 150 12%
0ed og s

5. Miscellaneoys 275 25%
e

s
e pp—



P ———— T R I AT i ~rym—

Age No. of Persons

3501):\').?) 553’:30 R’)O%Dsﬂo

20-25 50

25-30 70

30-35 80

35-40 180

40-45 150

45-50 120

50-55 70

55-60 50

12. (a) From the following data, calculate coefficient of Karl Pearson’s Coefficient of

Correlation:
&2 (808 SSerosn Hod S8 255 RITROROY MoeatSonds 88,0508,
X 15 20 28 12 40 60 20 80
L S 40 30 50 30 20 10 30 60

VRSP0 BNy (VIS PEHODH Fo2080s RSTT G500 &5 (AT UNN Nl )

Sales Adverﬁsement Expenditure
(Rs. lakhs) (Rs. lakhs)
O3S B563 e
(Ci)“.ege)é‘) (Cir.og’e:é‘)
X Y
Average 90 10
B o)
Standard Deviation 12 : 3
BPSE3E Do,

Coefficient of Correlation 0.8

X Sodax Yo 3’»455 550 Doods oSS 0.8,

() Find the two regression €quations
B0 BORSS RGN SR woas0

(i) If advertisement €xpenditure is Rs, 15 lakhs, what will be the sales?
BSS pSnen &r, 15 OFo0 @0 GRS 0 does 9

(iii) If Sales targetis Rs. 120 lakhs, what will be the advenisement_expenditure?
Ve OF 5% &, 120 Of0 oy (295805 PN Jogs9



— Aty e

—o—.

50&)260") &55§0 3503350.3

12. (@) From the following data, calculate coeffigj

correlation:
X 15 20
Y 40 30

Average

S lopnts)

Standard Deviation
ErSre3s D5

50
70
80
180
150
120
70
50

Coefficient of correlation 0.8

X 3580 Y o S04S5 B HSoe)

IR

Sales Advertisement Expenditure
(Rs. lakhs) (Rs. lakhs)
VSysen 53 pSen

(6. 050s) (6r.0506°)

X Y

90 10

12 3

OGS Moeass 0.8,

() Find the two regression equations
Bocs> (B3K803 BESERS008s E0R"a50500

@iy If advertisement expenditure is Rs,

@c‘i‘QS‘O of $2900 &,

.120 lakhs, what will be the advertiseme

120 oo wosss @

AN a)dz) 059

nt expenditure?

T —



(b)

4 Code : 40202

Year 2006 2007 2008 2009 2010 2011 2012
RSosgs

Profits

(Rs. 000) 60 72 75 65 80 85 85
g0 (¢.000)

Group Index Expenditure
(1o5) S50 BT P

1. Food 550 46%
&850

2. Clothing 215 10%
még@o_ '

3. Fuel & Lighting 220 7%
FOGTE0 8% Fedok

4. House rent 150 12%
0e3 el '

5. Miscellaneoys 275 25%
JBoren

———
s
i

i il
e



Code : 4034
FACULTY OF COMMERCE

B.Com. (Il Year) IV Semester (CBCS) Regular Examinations, March/April 2018

Time : 3 Hours]

BUSINESS STATISTICS - I
Paper [l
[Max. Marks : 80

Part A — (5 x4 = 20 Marks)

. Answer all the questions:

B Sod ey (HHpth Birgratnes Erahod:

i

Importance of Regression.
SEESI Gty s
The following data is given below :

Y
30 80
Standard Deviation 10 6

Arithmetic Mean

Correlation coefficient between X and Y is 0.65.
(a) Calculate X on Y equation and if Y = 50 find X value.

, R T
25 SEroTiaodo Je (500 BRGSE :

sl = X
1508 Rodigodas 30 80
arescels Dessn 10

N <5 s
$555 0.65 sooad X 08 Y $oserdy

X 5000t Y Diomre Sgy Srcuet 1

Sefcsnt, 03 39 Y = 50 eand X ool 5SofBous.

Explain limitations of Index Numbers.

5D S DORSeis DEtotule.

Method of least squares.

S e A0
5‘.‘1;-\:.;52;'\-& Sedes.

What is the probability to numbers 9 or 10 ocecurred when two dice are thrown?
s

Bots roged: Soolitets & Hopp S 9 dor 10 Hodmoiuess $e
) i
2\ nsn Ao DL SE <85 o0&

o

o, i %o e
LoeTR Dol BX0E00.

PTO.

2 Code : 4034

Part - B — (5 x 12 = 60 Marks)
II. Answer all the questions:
81 308 el PEpK 5T psreiele
6. (a) From the following data calculate two Regression equations:
X 3 5 8 12 18 13 14 14
Y 6 8 12 10 12 14 20 14
& 30 Grrodtanmoed Boch NG ShusSereds TPHodba
5] 8 12 13 13 14 14
8

3
6 12 10 12 14 20 14

< X

Ordor
(b) From the following data calculate two Regression equations:
Husband'sage : 19 18 21 20 23 22 25 24 27
Wife's age - 18 18 17 17 19 20 19 19 22
Find correlafion between husband and wife.

51 \Bob Serciha Mol Todis (s ShEgeredy SR S0
e BAbvn - 19 18 21 20 23 22 25 24 27
e Sapity o 18 18 17 17 19 20 19 19 22

Bobatin grory S5 Jogy SIENenciTly ESsT 0N,

7. {(a) From the following data calculate Fischer Ideal Index:

Goods A B C D E
P,(Rs.) 10 12 16 18 14
Total cost (Rs.) 1,000 600 480 840 720
P.(Rs) 12 20 18 20 15

Total cost (Rs.) 960 2,400 900 800 1,050

= 8. w PRNTEL g e
&2 300 STmoin dol a6 easthy WD Bogigo S8 Gos0:

4

DegHes A B C D E

P, (3) 10 12 16 18 14
Do Hgcto (3) 1,000 600 480 840 720
P, (&) 12 20 18 20 15

Bosdbo Jgcoo (E3°) 960 2,400 900 800 1,050

Or 8o

26
21

26
21



3 code : 4034

(b) Verify the following data Index numbers are correct according to Marshal

Edgeworth method:
1994 1995
Goods  Price Quantity Price Quantity
A 3 80 4 75
B 6 130 5 145
C 8 145 7 40
5 S STl BrO dogge: srgd 3§56 hopeto R e 20T 5%

1994 1995
Shoee GO HOI3Te0 S8 B850
A 3 80 4 75
B 6 130 5 145
Cc 8 145 7 40

Define Time Series. What are the utilities of time series?
srofrueds Splol, Ol EETETO DBBOBORL.
OrZor
The production particulars of a Sugar factorty are given below. Calculate
trend value based on Least Square method with Straight Line trend.
Year 1959 1980 1961 1962 1963 1964 1965
Production 65 70 74 79 85 86 83
&e Zod GemoFin X Lolord BoryTENaess: cz000DN0. Nd Jecdds
sug e 5ed” 568 B B Sorrlod SLifTHumL:
Bongtic 1959 1960 1961 1962 1963 1964 1965
Gy 65 70 74 79 8 86 83

[P.T.O.

9. (a)
(b)
10. (a)
(b)

4 Code : 4034

If a coin has tossed itindicates a head at that time. Two balls are drawn from
Atub, if not two balls are drawn from the B tub. In tub A 3 black and 5 white
balls are existing and in tub B 7 black and one white balls are existing. If a
ball was drawn from the tub and deposit in the tub and iftwo drawned balls
are black what is the probability to Atub. Calculate.

=5 E £5 o B < %
L E TR0 TS R 60 i SrOS A RS Mool Bot potie Hohedaros.
5 F o B g ES
255 B A3E ool Bods nodss HEhde editsucd. A FEJ‘S‘ 3502,5 290

N — E. 5
300, B .“&3&:5‘ 7 Sgo, o8 2ol wod. adih@ 208 ab e ﬁﬁ;@

£ N B, o e
Joens aodl &ba wodos Bobr Se03E A A3y Sr@rfodadScdots
Rogrigso e

Ordce

Explain the probability theorems Basic concepts.

SogrNgS Hapesc i 2 RSeR0 DDOCTORcS.

Explain the features of Normal Distribution.
i Dgreitie: o, OFFFW DE00EC.
Oréo

1,000 bulbs of 100 days standard of living were fitted in a factory. Its living
quantity is 20 days serial deviation of Normal Distribution. Determine the
(i) number of bulbs expire within 90 days and (i) All the bulbs are changed at
the same time, before change less than 10% bulbs are expired, what is the
gap is allowed to determine?

100 Bave 570 s pSiresc 76 1,000 Beges LI ENES SyTEod elyTe:
sanrec 20 e 550 Qe Juod e r\ré,:_‘? :Da:’am“"&; cﬁmzcb@o&.

(i) 90 Bz ST &

5T erod Tk

St Dacol 10% Sy ~5
~ e,

% & .. - o 1 5
5 22 wane Sog; ii) \..Mgf_,(—.;\;\ijc Eseod
B Tt = i e d B i men
BICSIBRD SLC0 Rtudoe) Sca wogee
¥ - i) 3 £
SAFSErDR HITnes Do - STED wodcein so%aRed 35 Drosctcd.
) ; : AR




..'r"'--—'

Code : 4042!A
FACULTY OF COMMERCE

M.L/B.A. & B.Com. (I Year) Il Semester (CBCS) Regular
Examinations, March/April 2018

FOREIGN TRADE
(For All Semesters)
Time : 3 Hours] [Max. Marks : 80
Part A — (5 x 4 = 20 Marks)
(Short Answer Type)
(e S0 B9y0)
|.  Answer all the questions:
ik BEe PN A WO OOl Vi es BU IR b LE
1. Define International Trade
worrgrot Sgse.
2. Parties in a Bill of Exchange.
2505 Depd” Feo.
3. Meaning of Disequilibrium.
eBtedepR euTEN?
4. Objectives of Indian Trade Policy.
&S 258 Do GO,
5. EXIM Policy-1985.
Do Srady 1945,
Part B — (5 = 12 = 60 Marks)
(Essay Answer Type)
(gt wares p..auCJ..)

II.  Answer all the questions:

6. (a) Discuss in detail about the importance of Foreign Trade.

=

o oot SEodod.
Or &
(b) Explain the shipping documents used in Foreign Trade.

) Toermm i % ey HaEa ) TS OC
&0 FSeTd Do felod FrOliots.

PTO.

(b)

10. (a)

2 Code : 4042!A

VWhat is the difference between Balance of Payment and Balance of Trade?
5055 Fp Bobe 3o o 290 STgres Andeted.

Or &
Explain the causes of Disequilibrium in Balance of Payments.
2oe FucE wns@egs e S0P AsBoted.
Explain the importance and implementation of Trade Policies in India.
o Baod” B DerTes Py, e 905 D5bosod.

Or o
Narrate the objectives and issues of present Foreign Trade Policy.
v DABSYS D GRo%, RIS SGTO0 Dadosed.
Explain the growth and significance of Foreign Trade in India.
ot Bicd” DB 5US0 Mot HB Sobos @rRePEss Boscd.

Or o
Define Trade Blocs. Explain the advantages and disadvantages.
HYE sSorroIre: ESTADL? AT ETes $o0cT SAos 200NN
Explain the major differences between IMF and I1BRD.
IMF 53500 IBRD Sagis (om0 Scres Seiio.

Or &
What is the WTO? Explain its aims and features.

- -~ W R g e u BT R
WTO esdmans? el G, Pgeires obolse 9grFes St

E:WU\'Y{\
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B.Com I-Year |-Sem (CBCS) Backlog Examinations, May- 2018.
Information Technology

Time: 3 Hours Max Marks: 80
Part- A 5x4 = 20m

Answer all the following questions.
1. Write a short note about EPROM.

2. What do you mean by Cryptography?

3. Applications of MS-Word.

4. List out the statistical functions in MS-Excel.

5. Types of slides.

Part - B 5x 12= 60m
Answer all the questions .

6.a) Write an essay about generations of computers.
(OR)
b) Write the basic components of computer system and explain central processing
unit in detail.

7.(a) Define Operating System. Explain different types of operating systems.
(OR)

(b) Explain about latest version of Windows and Linux accessories.

8.a) What is Mail Merge? Explain the procedure of mail merge.
(OR)
b) Explain the procedure of creating, saving and printing the documnent.

9.a) Describe the advantages and applications of M$ Excel.
(OR)
b) Explain functions and macros.

10.a) What is Internet? Explain different services available on internet.
(OR)
b) What is Multimedia? Explain the applications of multimedia.
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CODE NO: 1021

FACULTY OF ARTS, C@MMERCE, SCIENCE
B.A./B.Com./B.5c. |-Year |-Semester Examinations, April/May-2018
General English .

Paper-l
Time: 3 Hours Max Marks: 80
Section-A
" Fill in the blanks with suitable nouns given in marks (4x1/2=2)
(bird, crown, ooty, bunch. dogs, team)
(a) Pick one from that ---—------ of keys.
(b) There is only one «------ in the nest.
(¢c) The queen is wearing a golden -—-—---
(d) === -- is one of the coolest places in summer.
@ Pick out the correct spelling from the given list (4x1/2=2)

(a) Liberary. library, libarary.

(b) Committee, comittee, committee.
(c) Tution, tuition, tushion.

(d) allotted, allated, allotted.

3. correct the errors, if any, and rewrite the sentences (4x1/2=2)

(a) That pen is not yours. It is his.

(b) Laura wants to borrow an umbrella. She lost her yesterday.
(c) this is the place which he wants to live.

(d) Whom wrote this book?

% Write a Paragraph on how to send an email using transitional words. 2M

5. Fill in the blanks with suitable auxiliary verbs (4x1/2=2)
(a) sunitha---------- top the class. | am sure of that.
(b) -------- we come in, sir?
(c) 1-------- write with my left hand.
(d) we------------ been to Chennai once and know how to get to Adyar.

Fill in the blanks with homophones of the words in brackets.

(a) Did the ---------— win the race?.(hair)

(b) there is a small-------—----- in the pot.(whole)
(c) My office is a three-------- building. (story)
(d) Raju bought a --------cereeene car. (knew)

i Rewrite the sentences as directed (4x1/2=2)
(a) | lived in Kolkata for ten years.
(change into present perfect tences)
(b) He Practised yoga.(change into simple present tences)
(c) 1 will clean the table before we eat.
(change into past perfect tences)
d) The president stays | Hyderabad.
( change into simple future tense)

Pick out the combination of words that sound natural. (4x1/2=2)

(a) Have a conversation / make a conversation.
(b) Hardly nothing / practically nothing.

(c) Background knowledge / earlier knowledge.
(d) Gossip writer / gossip columnist.

9. y Write two more words of each, which have a sound similar to the underlined.

(4x1/2=2)
(a) Sale-—---
(b) through......
(c) Village........
(d) Boy.......
10. # Rewrite, using the necessary punctuation marks. (4x1/2=2)
(a) He said all the best to you
(b) Run yelled the group leader.
(c) Have you had your breakfast.
(d) Are you going to delhi.
Section—B (5x12=60)
11(A) (i) How did Ruskin Bond use Pathos and irony in the lesson, “The Eyes are not
Here™? &M
li Annotate the following lines. 6M
“It was her eyes, | noticed, not her hair. She had beautiful eyes — but they were
of no use to her, she was completely blind. Didn’t you notice?™
(or)
B) ) Introduce yourself in a business meeting where you would be presenting your
company. 6m
(ii) Explain Motivation and goal setting. 6m
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FACULTY OF ARTS, C@MMERCE, SCIENCE
B.A./B.Com./B.Sc. |-Year I-Semester Examinations, April/May-2018
General English .

Paper-|
Time: 3 Hours Max Marks: 80
Section-A
y Fill in the blanks with suitable nouns given in marks (4x1/2=2)

(bird, crown, ooty, bunch, dogs, team)

{a) Pick one from that ---—------ of keys.

(b) There is only one «------ in the nest.

(¢) The queen is wearing a golden ---—--—

(d) - is one of the coolest places in summer.

@ Pick out the correct spelling from the given list (4x1/2=2)

(a) Liberary, library, libarary.

(b) Committee, comittee, committee.
(¢) Tution, tuition, tushion.

(d) allotted, allated. allotted.

3. correct the errors, if any, and rewrite the sentences (4x1/2=2)

(a) That pen is not yours. It is his.

(b) Laura wants to borrow an umbrella. She lost her yesterday.
(c) this is the place which he wants to live.

(d) Whom wrote this book?

% Write a Paragraph on how to send an email using transitional words. 2M

5. Fill in the blanks with suitable auxiliary verbs (4x1/2=2)
(a) sunitha----------top the class. | am sure of that.
(b) ~meeeee we come in, sir?
(¢) l------- write with my left hand.
(d) we----mmmmmem- been to Chennai once and know how to get to Adyar.

Fill in the blanks with homophones of the words in brackets.

(a) Did the -+-------- win the race?.(hair)
(b) there is a small-------------- in the pot.(whole)
(c) My office is a three-------- building. (story)

(d) Raju bought @ --------eenevemv car. (knew)

7. Rewrite the sentences as directed (4x1/2=2)
(a) 1 lived in Kolkata for ten years.
(change into present perfect tences)
(b) He Practised yoga.(change into simple present tences)
(c) 1 will clean the table before we eat.
(change into past perfect tences)
d) The president stays [ Hyderabad.
( change into simple future tense)

Pick out the combination of words that sound natural. (4x1/2=2)

(a) Have a conversation / make a conversation.
(b) Hardly nothing / practically nothing.

(c) Background knowledge / earlier knowledge.
(d) Gossip writer / gossip columnist.

9. y Write two more words of each, which have a sound similar to the underlined.

(4x1/2=2)
(a) Sale-----
{b) through......
{c) Village.,.......
(d) Boy........
10. « Rewrite, using the necessary punctuation marks. (4x1/2=2)

(a) He said all the best to you

(b) Run yelled the group leader.
{c) Have you had your breakfast.
(d)  Areyou going to delhi.

Section—B (5x12=60)

11(A) (i) How did Ruskin Bond use Pathos and irony in the lesson, “The Eyes are not
Here™? 6M

li Annotate the following lines. 6M

“It was her eyes, | noticed, not her hair. She had beautiful eyes — but they were
of no use to her, she was completely blind. Didn’t you notice?”

(or)
By (i) Introduce yourself in a business meeting where you would be presenting your
company. 6m
(ii) Explain Motivation and goal setting. ém




12A (i)

(ii)

Science is not just a profession, but a vocation. How does Kalam's life and
experience exemplify this truth? 6m

Read the following passage and answer the questions given below: 6m

The V-2 missile was by far the greatest single achievement in the history of
rockets and missiles. It was the culmination of the efferts of von Braun and his
team in the VFR(Society for Space Flight, in Germany) in the 1920s. What had
begun as a civilian effort soon became an official army one, and von Braun
became the technical director of the German Missile laboratory at
Kummersdorf. The first V-2 missible was tested unsuccessfully in June 1942.

It toppled over on to its side and exploded. But on 16 August, 1942, it became
the first missible to exceed the speed of sound.

It filled me with awe that | would be travelling with this man — a scientist,

designer, Producting engineer administrator and technology manager, all rolled
into one.

The Avro aircraft | brought him in took around ninety minutes from Madras to

Trivandrum. Through the flight, Von Braun asked me abount our work and listened
as if he was just another student of rocketry. | never expected the Father of modern
Rocketry to be so humble, receptive and encouraging. He made me feel comfortable
right through the flight.

(a) Mention the greatest achievement in the history of rockets and missiles?

(b) When was the first V-2 missile tested?

(c) Who was filled with a we?

(d) When did V-2 missile exceed the speed of sound?

(e) Who was the father of Modern Rockertry?

(f) Who is the writer of this passage

B @
(ii)
13(A)
(i)
®
(i)
14(A) (1)
(ii)

(or}

“How to make tea *? Write a paragraph using the sequencing technique.

6M
Write about any scientist whose invention has had an impact on our lives.

6M
How do apt similes enhance the effect of the theme in the poem, “The Bangle
Sellers™ 6M
Annorate the following lines 6M

Tinkling, Luminous, tender and clear. like her bridal laugher and bridal tear.
(or)
\Write a paragraph on “The Effects of Ragging”. 6M

Write a conversation in which you are studying in a college abroad and you
are telling your friend in India on your visit, all about how you reached there,

and how you find the course and the envircnment. 6M i
What quality of Portia’s Character is evident in the one —act play “The
Merchant of venice™? 6M

You are the Parent of Divya, who is not doing too well in her class. You are
meeting Divya’s teacher and trying to find out what the problem is, as the
teacher sees it. How will you speak with the teacher and find out? 6M

e——

I e

S eng

(B)

15(A)
Ex:-

Ex:-

0]
(ii)

(or)
Annotate the following lines. 6M
And by our holy Sabbath have | sworn The Jew shall have any flesh, blood,
bones and all ere then shalt lose for me one drop of blood.
“You are calling to a enquiring about a hotel in Delhi and book a room for
two days in the hotel. 6M

Write two more words of each given consonant sound. 6M

Write two more words of each given vowel sound &6M
L | N

(or)
What are Interpresonal skills? Explain.  6M
Write essential tips for self-confidence. 6M




Questions :

1
2
3
4.
]
6

Where was Ravi Narayana Reddy born ?

. What work of Mahatma Gandhi's was Ravi impressed by ?
. When was Andhra Mahasabha started ?

How many times was he the president of Andhra Mahasabha ?
What did he transform the Andhra Mahasabha into under his leadership ?
What was his opinion in the cuiture ?

(OR}

(b) (i) Write an argumentative essay on the importance of communications skills for securing
employment. 1

(ii) Elaborate “Better late than never™ with appropriate example.

13(a) (i)
(ii)

(b) (@
(i)

14.(a) (i)
(i)
(b) (i)

(ii)

15(a) (i)
(ii)

(b) (i)
(i1)

Discuss the appropriateness of the title of the poem ‘An Irish Airman Foresees
his Death’.
What are the various skills applied to solve problems ?
(OR)
What are rhyming couplets ? write three sets of ryhyming words. For ex: sky-3
die.
Your teacher is operating a net banking account. Wite a dialogue between
you and your teacher asking him/her as to how to open a bank account and
do net banking.

How does the photographer deal with the narrator ?

Make an entry in your personal diary about a visit you made to a famous
place.
(OR)

Annotate the following lines.

‘Stop’, | said with emotion but, | think with dignity. *This face is my face. It is
not yours: it is mine’.

You are the HR manager of a firm. You are conducting an interview. Write a
dialogue between you and the job asprints regarding their hobbies and
interests.

According to Nehru what do great leaders do to the nation and people ?
Write an essay on an accident your friend has seen.
(OR)
Write a note on Emotional Intelligance.
Expand the proverb “Actions speak louder than words' with examples.
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CODE NO: 1023

FACULTY OF ARTS, COMMERCE AND SCIENCE
B.A./B.Com./B.Sc. lll-Semester Examinations, May-2018
General English
Paper-lll
Max Marks: 80
Section-A

(Answer all the questions. All questions carry equal marks)

Filt in the blanks with suitable prepositions. 10x2=20 Marks
(a) Swathi is good............. Mathematics.
(b) Ramu's house is............ the temple.
(c) He came here................ foot.
(d) Vijay is not afraid,........c...eeu.... anything.
Choose the correct spelling from the following sets of words.
(a) Recommend recomend reccomend
(b) Memento memento mementoe
(¢} Comittee committe committee
(d) Occurred occurred occurred
Fill in the blanks with suitable conjunctions.
(a) I'm getting good grades.................... +eeen-nl study everyday.
(b) They do not sSMOKe, ....cucvviimivrnianiearsosens They play cards.
(c) I'd like to thank you.......c.....coun.... .........that was a lovely gift.
(d) My brother loves animals. He just brought a puppy......cccccccuueec a kitten home with
him.

Write any one of the features of the argumentative essay.

Change the following sentences from active to passive voice or passive to active voice
and rewrite the sentences.

(a) Children are playing cricket there.
(b) We didn’t attend the party yesterday.

Choose the appropriate word to complete the idiomatic expressions in the following
sentences with the words given in brackets.
(soft, the art , rags, music, pie)

(a) lhada.....c..cenneeeee ciereneeaeennnSpot for poor children.

(b) The teacher use the state of c......ccoveeenen.o.. technology in their classrooms.
(<) He has been successful in his life. He went from............... F——— to riches.
(d) I had to face the......covsrammiisassns all by myself although | was not the only

one responsible for the problem.

Z Rewrite the following sentences by changing the speech from direct to indirect or
indirect or direct.
(a) Damu says, ‘Priya is working in Ahmedabad.
(b)  Hasan said, | am returning to Nagpur next sunday.
8. Write the origins of the eponyms given below.
(a)  Adam’s Apple (b)  Teddy bear
9 Write two words each using the -.o,:os.m_..m suffixes.
(a) _tion
(b) ed
() _ly
(d) _able
10.  Write a dialogue between you and your uncle who visit your home unexpectedly.
SECTION-B (Marks: 5x12 =60 )
(Answer all the questions. All questions carry equal marks)

M.(a) (i) Why does the stooryteller in the story ‘The Man who saved pumplesdrop’
consider the lunatic the greatest benefactor the town of pumpelsdrop had
ever known ?

(i) Write an argumentative dialogue between two/three people on ‘Beauty is
nothing but Physical Appearance’.
(OR)
(b) Annotate the following lines:
The stanger replied that he wanted two of the latest models of the famous
English rolls Royce automobile and produced a catalogue in English showing the
model and also the type of body he required.
12.(a) (i) What are the advantages of moving to an advanced age according to Chesterton

(i} Read the following passage and answer the question that follow:

Ravi Narayana Reddy was one of the great heroes of the freedom movement of
Hyderabad. He was also a colourful and courageous man who sacrificed a great deal
for others. A feudal landlord by birth and inheritance , he became a powerful agent for
the demise of feudalism.

He was born in prosperous jagirdar family in Bollepalle village of Nalgonda district
in 1908. As a student while staying at the Reddy hotel in Hanuman Tekdi at Hyderabad
he took keen interest in sports . scounting and acting . He carried a lifelong injury to his
spinal cord from a game of football. In 1930, when he was in his intermediate class, he
gave up his studies and joined Mahatma Gandhi's Civil Disobedience Movement.

His wife died in 1929. Ravi was so impressed by Mahatma Gandhi's work for the
upliftment of Harijans, that he went to wardha and presented all her jewellery to
Mahatma Gandhi as donation. He was also a leading member of the Andhra
Mahasabha, Which started in 1928 as a socio-cultural organization for the Telugu
speaking people of the state . He became its president thrice — in 1941, 1944 and 1945.
Under his leadership, it was transformed into a vigorous political body. He opined that
culture can never be separated from economics and politics.
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B.A./B.Com./B.5c. lll-Semester Examinations, May-2018
General English
Paper-lll

Time: 3 Hours Max Marks: 80

%

Section-A
(Answer all the questions. All questions carry equal marks)

Fill in the blanks with suitable prepositions. 10x2 =20 Marks
(a) Swathi is good.............Mathematics.
(b) Ramu’s house is............ the temple.
(c) Hecame here................ foot.
(d) Vijay is not afraid,................... anything.
Choose the correct spelling from the following sets of words.
(a) Recommend recomend reccomend
(b) Memento memento mementoe
(c) Comittee committe committee
(d) Occurred occurred occurred
Fill in the blanks with suitable conjunctions.
(a) I'm getting good grades.......c.cccvvvvuvnnvaanns | study everyday.
(b) They do not smoke,. ... ..They play cards.
(c) I'd like to thank yOU..........ccoeviivniininnnnnns that was a lovely gift.
(d) My brother loves animals. He just brought @ puppy.......cccccvvevnnn. a kitten home with
him.

Write any one of the features of the argumentative essay.

Change the following sentences from active to passive voice or passive to active voice
and rewrite the sentences.

(a)
(b)

Children are playing cricket there.
We didn’t attend the party yesterday.

Choose the appropriate word to complete the idiomatic expressions in the following
sentences with the words given in brackets.

(a)
(b)
(c)
(d)

(soft, the art , rags, music, pie)

| had Suanamnmmensss spot for poor children.

The teactier use the state of.....covviiininie technology in their classrooms.
He has been successful in his life. He went from....................... to riches.

I had to face the.......coeeeuemunannnnnn all by myself although | was not the only

one responsible for the problem.

7.

Rewrite the following sentences by changing the speech from direct to indirect or
indirect or direct.

(a) Damu says, *Priya is working in Ahmedabad.
(b) Hasan said, | am returning to Nagpur next sunday.

8. Write the origins of the eponyms given below.
(a) Adam’s Apple (b)  Teddy bear
9. Write two words each using the following suffixes.
(a) JAeh: peeevonuaaein  Sumasininanan:
(B S0d  sranE et samsesssssssseasssssassssessss
(c) Y s e s
(d)  _able s s
10.  Write a dialogue between you and your uncle who visit your home unexpectedly.
SECTION-B (Marks: 5x12 =60 )
(Answer all the questions. All questions carry equal marks)

1.(a) (i) Why does the stooryteller in the story ‘'The Man who saved pumplesdrop’
consider the lunatic the greatest benefactor the town of pumpelsdrop had
ever known ?

(i) Write an argumentative dialogue between two/three people on ‘Beauty is
nothing but Physical Appearance’.
(OR)
(b) Annotate the following lines:
The stanger replied that he wanted two of the latest models of the famous
English rolls Royce automabile and produced a catalogue in English showing the
model and also the type of body he required.
12.(a) (i) What are the advantages of moving to an advanced age according to Chesterton

(i) Read the following passage and answer the question that follow:

Ravi Narayana Reddy was one of the great heroes of the freedom movement of
Hyderabad. He was also a colourful and courageous man who sacrificed a great deal
for others. A feudal landlord by birth and inheritance , he became a powerful agent for
the demise of feudalism.

He was born in prosperous jagirdar family in Bollepalle village of Nalgonda district
in 1908. As a student while staying at the Reddy hotel in Hanuman Tekdi at Hyderabad
he took keen interest in sports , scounting and acting . He carried a lifelong injury to his
spinal cord from a game of football. In 1930, when he was in his intermediate class, he
gave up his studies and joined Mahatma Gandhi's Civil Disobedience Movement.

His wife died in 1929. Ravi was so impressed by Mahatma Gandhi's work for the
upliftment of Harijans, that he went to wardha and presented all her jewellery to
Mahatma Gandhi as donation. He was also a leading member of the Andhra
Mahasabha, Which started in 1928 as a socio-cultural organization for the Telugu
speaking people of the state . He became its president thrice — in 1941, 1944 and 1945.
Under his leadership, it was transformed into a vigorous political body. He opined that
culture can never be separated from economics and politics.




Questions :

Where was Ravi Narayana Reddy born ?

What work of Mahatma Gandhi's was Ravi impressed by?

When was Andhra Mahasabha started ?

How many times was he the president of Andhra Mahasabha ?

What did he transform the Andhra Mahasabha into under his leadership ?
What was his opinion in the culture ?

(OR)

(b) (i) Write an argumentative essay on the importance of communications skills for securing
employment. i
(ii} Elaborate “Better late than never™ with appropriate example.

Cuith e b B

13(a) (@) Discuss the appropriateness of the title of the poem ‘An Irish Airman Foresees

his Death’.
(i) What are the various skills applied to solve problems ?
(OR)
(b) (i) What are rhyming couplets ? write three sets of ryhyming words. For ex: sky-3
die.

(i) Your teacher is operating a net banking account. Write a dialogue between
you and your teacher asking him/her as to how to open a bank account and
do net banking.

14.(a) (i) How does the photographer deal with the narrator ?

(ii) Make an entry in your personal diary about a visit you made to a famous

place.
(OR)
(b) (i) Annotate the following lines.
‘Stop’, 1 said with emotion but, | think with dignity. ‘This face is my face. It is
not yours: it is mine'.

(i) You are the HR manager of a firm. You are conducting an interview. Write a
dialogue between you and the job asprints regarding their hobbies and
interests.

15(a) (i) According to Nehru what do great leaders do to the nation and people ?
(i) Write an essay on an accident your friend has seen.
(OR)
(b} (i} Write a note on Emoticnal Intelligance.
(i) Expand the proverb ‘Actions speak louder than words' with examples.




13(A) (i)

(it)
B i)
(ii}
14.(A) (i)
(ii)
B (i)
(i)
15(A) (i)
(it)
B (i)
(i)

If" Is a didactic poem Explain.
What are PORTMANTEAU words? Give six examples.

(OR}

You are Jose of Goa. The modern you bought two weeks age is giving you
problems Write a letter to the manager of Tata Digitals from whom you
bought the modern, making a complaint about the defective modern and
asking it to be replaced at the earliest.

Write an imaginary dialogue where a group of teachers are meeting with
principal to organize the conduct of end-of-semester examination in the
college.

Explain the significance of the title. ‘Riders to the sea’.
What are PALINDROMES? Give six examples.

(OR)
Annotate : The young priest is after bringing them. It's a 5 shirt and a plain
stocking were got off a drowned man in Donegal.

What are the major elements necessary in all business correspondence?
You are sundeep, write a letter to your cousin congratulating her on getting
selected as Group-l officer.

(OR)
Explain ‘Leadership skills'.

Write short notes on any sports person who has become famous through a lot
of effort and practice with his / her sport.
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CODE NO: 1022

FACULTY OF ARTS, COMMERCE, SCIENCE

B.A./B.Com./B.5c. |-Year ll-Sem Examinations, April/May-2018

General English

Paper-II
Time: 3 Hours Max Marks: 80
Section-A
1. Identity Non-finite verb forms in the following (4x1/2=2)
(a) Mallu gave me a wrapped present.
(b) Krupakar added boiling water to the tea leaves.
(c) She would like to join our group.
(d) They picked up the scattered coins,
D Complete the following words using ‘e * (or) ‘ei’. (4x1/2=2)
(a) Cheeeef
{b) Earl---—-r
(c) Butterfly---s
(d) Ser----- s
3. Rewrite the following using hyphens wherever necessary. (4x1/2=2)
(a) The children arrive usually at five thirty five Pm.
(b) The car took a sudden U turn.
(c) My mother in law is the principal of St. Arm’s School.
(d) Sumanth is the best trained gymnast.
4. Complete the following words using ‘ty”, ‘ance’, ‘ical’(or) ‘ity’.
(a) Negative..............
(b) Velac............... ! i
(c} Deliver..............
(d) Analyt..............
5. Identify Fricative sounds in the following words. (4x1/2=2)
(a) nephew (b) Pleasure
(c) Northern (d) husband
6. Fill in the blanks with suitable ‘Articles’. (4x1/2=2)
(a) Anand took ---....degree in law from .............._. University of Hyderabad.
(b) He took us aout to dinner but ................__ dinner we had at suprabhath

Restaurant was delicious.

(c) I shall tell you about .............._ officer in the Indian Navy..

7. Identify SIMILES and METAPHORS. (4x1/2=2)
(a) The son is the reflection image of the father,
(b)  The handshake felt like a warm laundry.
(C)  His belt was snake curling around his waist.
(d) The children ran like ripples through water.
8. Identity, from which language the following words are borrowed. (4x1/2=2)
(a) cigar (b)  cricket (c) algebra (d) café.
9. Identify the ‘Nasal sounds’ in the following sentences.
(a) Will you make me a plate of rice,
(b) Nancy knows me.
(c) Learning English is fun.
(d)  Chantasala is a famous singer.
10.  Identify the ‘Adjectives’ in the following sentences. (4x1/2=2)
(a) Vagdevi sent two mails.
(b) I love ltalian food.
(c) Each student has to carry his or her identity card. Ll
(d)  Please get me a bag of ripe red apples. ¥
SECTION - B
11(A) (i) Portary the character of Mr. Nuttel.
(it) Annotation imagine that you are a new comer to city .
B (i) How will you go about asking for information on what to see and how to go
about it? Write a dialogue that you had with the local tourist office regarding this.
(OR)
(ii) Write short notes on "Time Management'.
12.(A) (i) Comment on the essay The Voice of Humanity as a warning to humanity and
to posterity.
(i) Read the following passage and answer the given questions.
(OR)
B (i) Write general tips of Note - Taking.

(i) Expand "Time and tide wait for none’.
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CODE NO: 1022

FACULTY OF ARTS, COMMERCE, SCIENCE
B.A./B.Com./B.Sc. I-Year lI-Sem Examinations, April/May-2018
General English

Paper-Il

Time: 3 Hours Max Marks: 80
Section-A

i Identity Non-finite verb forms in the following (4x1/2=2)

(a) Mallu gave me a wrapped present.

(b} Krupakar added boiling water to the tea leaves.
() She would like to join our group.

(d) They picked up the scattered coins.

Complete the following words using ‘l e * (or) ‘ei’. (4x1/2=2)
{a) Che-f
{b) Earl-----r
(c) Butterfly----s
(d) Ser------ ]
Rewrite the following using hyphens wherever necessary. (4x1/2=2)

(a) The children arrive usually at five thirty five Pm.

(b) The car took a sudden U turn.

(c) My mother in law is the principal of St. Arm’s School.
(d) Sumanth is the best trained gymnast.

Complete the following words using ‘ty’, ‘ance’, ‘ical’(or) ‘ity’.

(a) Negative..............

(b) Veloc....... d i

{c) Deliver..............

(d) Analyt...............

Identify Fricative sounds in the following words. (4x1/2=2)

(a) nephew (b) Pleasure

(c) MNorthern (d)  husband

Fill in the blanks with suitable ‘Articles’. (4x1/2=2)

(a) Anand took .......degree in law from ................. University of Hyderabad.
(b) He took us aout to dinner but .................... dinner we had at suprabhath
Restaurant was delicious.

(<) I'shall tell you about ................ officer in the Indian Nawvy..

7 Identify SIMILES and METAPHORS. (4x1/2=2)

(a) The son is the reflection image of the father.
(b)  The handshake felt like a warm laundry.
(C) His belt was snake curling around his waist.
(d) The children ran like ripples through water.
8. Identity, from which language the following words are borrowed. (4x1/2=2)

(a) cigar (b)  cricket (c) algebra (d) café.
9. Identify the ‘Nasal sounds’ in the following sentences.

(a) Will you make me a plate of rice.
(b) Nancy knows me.

(c) Learning English is fun.

(d)  Ghantasala is a famous singer.

10.  Identify the ‘Adjectives in the following sentences. (4x1/2=2)
(a) Vagdevi sent two mails.
(b) I love Italian food.

(c) Each student has to carry his or her identity card.
(d) Please get me a bag of ripe red apples.

SECTION - B
THA) (i) Portary the character of Mr. Nuttel.

(i) Annotation imagine that you are a new comer to city .

B (i) How will you go about asking for information on what to see and how to go
about it? Write a dialogue that vou had with the local tourist office regarding this.

(OR)
(ii) Write short notes on ‘Time Management’,
12.(A) (i) Comment on the essay The Voice of Humanity as a warning to humanity and
to posterity.
(ii) Read the following passage and answer the given questions.

(OR)

B (i) Write general tips of Note — Taking.
(i) Expand "Time and tide wait for none’.




13(A) (1)
(ii}
B (i)
(ii)
14.(A) (i)
(ii}
B (i)
(ii)
15(A) (i)
(ii)
B (i)

(ii)

‘If" is a didactic poem Explain.
What are PORTMANTEAU words? Give six examples.

(OR}

You are Jose of Goa. The modern you bought two weeks age is giving you
problems Write a letter to the manager of Tata Digitals from whom you
bought the modern, making a complaint about the defective modern and
asking it to be replaced at the earliest.

Write an imaginary dialogue where a group of teachers are meeting with
principal to organize the conduct of end-of-semester examination in the
college.

Explain the significance of the title, ‘Riders to the sea’.
What are PALINDROMES? Give six examples.

(OR)
Annotate : The young priest is after bringing them. It's 2 5 shirt and a plain
stocking were got off a drowned man in Donegal.

What are the major elements necessary in all business correspondence?
You are sundeep, write a letter to your cousin congratulating her on getting
selected as Group-l officer.

(OR)
Explain "Leadership skills’.

Write short notes on any sports person who has become famous through a lot
of effort and practice with his / her sport.
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It is evident that there is no quality upon which the success of a nation soO much
depends as upon its courage. No nation can rise to a high place without being brave. It
cannot maintain its independence even. It cannot push forward upon any path of life
without courage. Nations that are cowards must fall.
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FACULTIES OF ARTS/COMMERCE AND SCIENCE
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FACULTY OF ARTS/COMMERCE/SCIENCE

B.A./B.Com./B.Sc/B.B.A. Il- Semester, Examinations May, 2018

SECOND LANGUAGE: SANSKRIT
Time: 3 Hours Max. Marks: 80

SX4 = 2o

T F AT THATE =T 5| T FAATATE T ¢

e B AT T A & ATFEIETHE TEOTA
g AnT GErArEr Ay ggerhmg e 0

STTERAH MIUTARR A |

=] Co
. Wﬂ“ g‘ AR T TH v-——-!rél@d-é,—‘g_ﬂﬂ;w ZiE
i & .

ORGIEK

5. fogaEdeT TeaRaqA | —
® ST H @Wﬁgﬂz@gyr@w@ﬁfwﬁ:@

o " a5i
Pz ar=r T ST TR X TR

b - _
- A W%'%V"
¢ 5
7. ¥ STTHFEAR BT A —
o .
e g Aa wfe F YoT A =T TR
o ’}




natlk et @
2wkl (B
venelE @
Yew Rl (B

a

2hake (9

Jakiriy (5)
Bicbke] ®
JEISINANG
FloaPhz @

Ieﬂ“ft&la @

fpery. EllREl PR
eloP 18R bl ey fo TelbeiRh, Jtllnnka . deZaglel 0n€

el

() e (9
C%@.[W!b%) THe @
(21?) hath - 15 ®

-

ot




Past B ZTT' =TT

T e Y N,
T TAT: TF ATy 1T HAHTATET 5 | S wiz = bO

. " (G
. g_}i?\T% AP Ffawg e ATEE =T THARTA

© .
@Ci\s @ CJII

gl " i o~
:4 if@f& %!i!r%d‘-}ﬂ 3 JENEH SAT: |
Gfote A3 1FHAE mef I ATe TeTa e "
=] o o o
& ﬁ‘z%r?ff é‘fr TATIIRS TR AT i Aol BrEAET Al
(;ﬂg %LGT Z T2 41 «HE’E%HO =TT C" a;;ﬂ" 7 AT 33 ST I

@ F T ThIX ARSTFAA Fih RS T T 5 1
IRAEnILE TR ETAT s T B3 g aste=ar o

O ART STATY T THTVIAT FAR M TH A
i PR IR EC i e e s Tt ot s 0

oy . ° = ol = = |
o, arp@fioT gaedigamf ATAT A HEGA
‘ AToTAT ..
¢ : 7 ~ HR13] (AT A |
TG EE AN BL i Sy SR
= o o e RN
[T Taest 9T He vl e &
FHY4Tr
MW Horwrms srgfemet =1 avr=a |
<J
2. ST TN TIAT ARRLATOT T |

@ oI~ H4 (FT)
& T (30
@ TN 2D



Code No: 1022
FACULTY OF ARTS/COMMERCE/SCIENCE

B.A./B.Com./B.S¢/B.B.A. lI- Semester, Examinations May, 2018

SECOND LANGUAGE: ARABIC

Time: 3 Hours Max. Marks: 80

Section - A
Answer any 5 questions. Each question carries 4 marks. SX4=20

I Translate the fbﬂawing verse:

i1 Translate the sentence.
0§ G S J6;
IH  Answerthe fbﬂoﬁ?ﬁig (;[ues.ti.(in.
PG5 3as 0 Je Olie padly e
IV Write the answer:
| SRR
V. Translate the following verse:
o 325 J25 4% ol 55 6 S S
VI  How many kinds of sentences? What are they? |
“ o f Pl foaalllladlles oo
VI Write two parts of possessive phrase with examples.
el AL S e 853 S

VI | Who was.entitled with pluy 4de il oo sl o2 ?
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Section-B

Answer all questionsEach question carries 12 marks. 5x12=60

Write the summary of Suratul Qad’r . ‘
| OR fj.x.'&.'ﬂ" EJJW ‘L\OM g,.;‘Si-

Explain the Tafseer of Suratul Zilzal.
I e s o

‘Write the summary of “Al Ma'raz as Sanai”.

OR % GL.‘?L.‘M-QH Ub_;"-i‘" 5..».0)&9_ LTA:SH’{

Explain the summary of “Al Nizam as Sabe: Mir Osman Ali Khan”.

O Jo ol bt pllall Lads ST
Explain any Two verses from the poem “Al Bintu”.
OR e R T
Write the summary of the poem “Al Nasheed Al Watanee”,
S ab il Ao o
Write about the Sentence and its kinds:

o caals y Al se ST

Explain about the Possessive Phrase
Write about the Compilation of Holy Qur’an;
OR

Write 2 pote on “Poetry in Islamic Period™:

SN a2l e ST
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